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Question Number : 1 Question Id ;: 91394318631 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following indicates the concept of Zone of Proximal Development (ZPD) as
suggested by psychologist Lev Vygotsky ?

Options :

91394373201,

A learner’s brain develops faster in childhood.
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s1z0437a00, L) leamer learns effectively when it is supported with real life examples.

What a learner can do with help and without help.
91394373203,

51394373004 Lriends interaction is very important for proper development of child.

Question Number : 1 Question Id ;: 91394318631 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
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Question Number : 2 Question Id ;: 91394318632 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : (0
Which among the following is the correct set of four fundamental principles of Rabindranath
Tagore’s educational philosophy ?

Options :

. Humanism, Commercialisation, Urbanisation, Hinduism

S Naturalism, Humanism, Internationalism, Idealism

Globalisation, Localisation, Transformation, Capitalism
91394373207,

Socialism, Spiritualism, Tourism, Commercialism
91394373208,

Question Number : 2 Question Id : 91394318632 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

fr=fafEa § § SHE-91 fahey Wigmy SR & ige <31 & =R Hifds fagidl o 9 92 82

Options :
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91294273205,

91394373206.

91394373207,

91394373208,

Question Number : 3 Question Id : 91394318633 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The field of study of the theory and practice of self-determined learning that focuses on the

importance of knowing how to learn is known as:
Options :
Epistemology

91394373208.

91394273210, Andragogy

Pedagogy

913943735211.

Heutagogy

91394373212.

Question Number : 3 Question Id : 91394318633 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e Y R S & v W S SiEd 9 are W9-fifa i % sgeaRr SR fugia %
SIS &3 HT 1 HET Al 8 ?

Options :
91394373209,
referet Jomet

91394373210

913394373211. ﬁT TR

91394373212 3TTeq - 3T ErTY

Question Number : 4 Question Id : 91394318634 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The construction of thought process, which includes remembering, problem solving and
decision making, is called as :

Options :

Andragogy

91294273213,

Psychology

913943735214.

Pedagogy

91394373215.

oenitive developmen
913943?3216.C gnitive d 5 t

Question Number : 4 Question Id ;: 91394318634 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
foram gfsran st WA 1 S1eaa TorH TIoT, WS WHIEM ST fHorg =1 i erdn 8, SR e
e?

Options :

oy ) (Yref3ren yoredt )
91394373214, LEIEEIE

yeri (forememss)

91394373215.

91394373016, SATTCHD EEARY

Question Number : 5 Question Id : 91394318635 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The field of study dealing with methods and principles used in adult education is known
as :
Options :

Pedagogy

91394373217.

Andragogy

91394373218.

Anthropolo
91394373219 PRIOGY

91394373220. Gemntology
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Question Number : 5 Question Id : 91394318635 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Uig fen ¥ weem faftel v fagial @ Heifia sterem &5 = FHean & 2

Options :

e (faamme)

Tgritt (Yrefnen et )

ooy, STIEST (o)
Sirerstt (S-forgm)

91394373217.

91394273218.

91394373220.

Question Number : 6 Question Id : 91394318636 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The four approaches to knowing answers to research questions, according to Kerlinger,
are :

(a) Method of tenacity

(b) Method of intuition

(C) Method of authority

(d) Method of science

() Method of creativity

() Method of non-functionality
Code :
Options :

(c) and (d)

913943735221. (a)’ (b)’

(d) and (e)

91394373222, (b)’ (C)’

o1394373223, () (d), (€) and (F)

o1394373224. (©) (d), (e) and (f)

Question Number : 6 Question Id ;: 91394318636 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
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(d) Tagm fafy
(

e) YSHrcHehal oty
(f)  A-WehmEcHshal fafy

Options :

(a), (b), (c) 3R (d)

91394373221.

(b), (), (d) 3R (e)

91394373222,

01394373223, (P)r (), (€) AR (£)
01394373224, () (), (€) 3R 1y

Question Number : 7 Question Id : 91394318637 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

One way to measure the extent to which a measure is free of random error is to compute
its :

Options :

Content validity

91394373225.

Exp erimenter’s bias
91394373226,

Test-retest reliability
91394373227,

RS e Demand characteristics

Question Number : 7 Question Id : 91394318637 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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91394373225.
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91394373226.
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91394375227,

91384373228. I ” N

Question Number : 8 Question Id : 91394318638 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Qualitative researchers criticise quantitative research for its tendency towards :

Options :

91394373229, Emphabm on evidence

Focus on empiricism
91394373230,

91394373231 Reductionism

5130437305 Obsession with creativity

Question Number : 8 Question Id : 91394318638 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T[UTTcHS SNEhd I 3R AEAHE Y 1 JITd o HRO SHHT a1 FHL € |

Options :

91394273229. Higg X Gh?

91394373230. S:ri Bl Gﬁ-{

91394373221, El EIE
g TcHehdl < Ifd AR 3T

91394373232,

Question Number : 9 Question Id : 91394318639 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0
Which method is appropriate to reduce random error ?

Options :

o1304373033, Oclect large sample size

— Administer the test after a gap of one week

6130437305 Lrdminister the treatment in the same way every time

Administer manipulation checks

91394373236.

Question Number : 9 Question Id : 91394318639 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ao Ff 1 FH T o fau Fefafaa § § oF 9 fafy sugea 82

Options :
<o TS SRR 1 =

91394373233.

Y18 o YA & LET] &0 Ll

91394375234. ‘

o120457355c B S Teh FHM ®Y H ITER FHT

1 JEE S

91394373236.

Question Number : 10 Question Id : 91394318640 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In relation to code of conduct in research, what does APA stand for ?

Options :

Advanced Psychological Authority

91394373237.

S{sessEEsE American Psychological Association

o1304573059 L2ustralian Psychological Association

o1304375040 LrSSOCIation of Psychological Assessments

Question Number : 10 Question Id : 91394318640 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

oy H STER-Sfedl & Had H APA § R T
Options :

s1394573037 LSS WIEhTATSIhel SR
91394373238, STHIRA HIEhICTSohel THINITRI
91394373239, S feTa WRehraSIhe THITeH

91394373240. " " ; ™

Sub-Section Number: 2
Sub-Section Id: 913943960
Question Shuffling Allowed : Yes

Question Id : 91394318641 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehension

Read the following passage carefully and answer questions 11 to 15.

For all the disagreement in the industry about the future of aviation, there is perfect accord
on one point : There is going to be a lot more of it. The world’s air passengers flew a combined 7.64
trillion kilometers in 2017. By 2037, that will rise to 18.97 trillion kilometers, with about 40% of the
increase happening within five intra-regional markets : China, India, North-America, Europe and
South-east Asia. That is sparking a battle over the biggest bottleneck holding back this growth :
airports. The governments that still own many of them should be more open to privatisation to
cover a $ 78 billion funding gap in needed capital investments. Airlines, airports’ biggest customers,
see things differently. Costs at privatised terminals are higher and governments should be cautious
about such actions in the interests of expanding the aviation sector as a whole. Privatising an
airport does not necessarily make it more efficient. A study has found there was little difference
between the performance of airports 100% owned by commercially-oriented government
corporations and those majority controlled by private businesses. The key is instead to avoid
structures where the incentives for managers are confused or misaligned, such as where private
companies are brought in as minority investors or where managers are essentially bureaucrats
swayed by political imperatives. There is a better solution out there, but it is not likely to be very
attractive to incumbent airlines, airports, or passengers enamoured of the current generation of
gleaming terminals : build more, cheaper airports.

Sub questions

Question Number : 11 Question Id : 91394318642 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the growth rate in aviation apart from the five intra-regional markets ?

Options :
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91394373241. 10 percent

24
91394373242, 20 percent

91394373243. 30 percent

40 percent
91394373244,

Question Number : 12 Question Id : 91394318643 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Why should the governments be open to privatisation of airports ?
Options :
o130437304c DECAuUse they own many airports

Because there is a battle for growth
91394373246,

For necessary capital
91304373247,

S To limit the government control of aviaton mdustry

Question Number : 13 Question Id : 91394318644 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
How do airlines see the move for privatisation of airports ?

(a) Feel that costs are high

(b) Governments should be cautious

(c) Interest of the aviation sector is important
(d) It decentralises the authority to control
Code :

Options :

and (c)

91394373249, (a)’ (b)

(b), (c) and (d)

91394373250.

(c), (d) and (a)

91294=732E51.
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91394373252, (d), (@) and (b)

Question Number : 14 Question Id : 91394318645 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the key for making airports function efficiently ?

Options :

ST Make private companies as minority shareholders.

o1504373054 L rOVIde misaligned incentives to managers.

U Recognise political imperatives of bureaucrats appointed as managers.

Avoid structures of confused incentives to managers.
91394373256,

Question Number : 15 Question Id : 91394318646 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following is the focal inference of the author in the passage ?

Options :

o1354272sc, Lrivate ownership of airports does not mean efficient management.

91394373005 Growth of the aviation industry is distorted.

s1304575050, DITPOrts are not an obstacle to the growth of aviation industry.

Government-owned airports are known for high performance.
91394373260, a ol

Question Id : 91394318641 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehension
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Sub questions

Question Number : 11 Question Id : 91394318642 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Optmn Orientation : Vertical

Correct Marks : 2 Wrong Marks :

qﬁm—maﬁm%&mﬁaﬂ 3T & i faehrd X F ¥ ?

91394373241. 10 !ll‘lal‘l
20 I3l
91394273242, 20

91394373243, 30 SII l 0
91394373244, 40 Hl“l 0

Question Number : 12 Question Id : 91394318643 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
LR ol ToamuwAl & TSR0 o1 Tazar #=Ii ol =ey 2
Options :

91394373245, Hifeh Ik TH ol 3 AT §
i g F T @Ik wadl @l

9129427324%.



www.prepp.in .repp
Your Personal Exams Guide
913394373247. IEEEE £ i[ a; iil E

3STIA TN H TN a0 %1 & fag

913943732483.

Question Number : 13 Question Id : 91394318644 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TRETE famraeH % s 91 fFa TR TEd 82
(a) T2 HEYH Hdl g Tk amma Aty

(b) EIHR hI TSFT &1 AMeT

() TSI &1 1 fed AEwqoi 3

(d) % FEEe & MR = fasfea o §

he

Options :

(@), (b) 3R (c)

91394375249,

(b), (c) ¥R (d)
IR (a)

91394273250,

91394373251. (C)’ (d)

1), (a) 3R (b)

91384373252 (() (

Question Number : 14 Question Id : 91394318645 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

m%mﬁwmﬁ%mwm%?

Options :

=it Hafi 1 o7 TUHes ST
YelEeh] oh] TG WIeded HedT S |

91394273253

91394373254,
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91394373255.

91394373256.
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Question Number : 15 Question Id : 91394318646 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

=g § o & g Y €

Options :

oisomrans, THEMGTH o TS Tt < o™ FIA Yoo T 2|
91294373258, 9S4 I gis fosfa 2
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9139437325
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91384373260.

Sub-Section Number: 3
Sub-Section Id: 013943961
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 91394318647 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Signs are considered as secondary products of :
Options :
s1384373061 MesSsage

91394373050 hannelisation

Semantic accuracy
91394373263.

91304373064 LDHOtAINMeENt

Question Number : 16 Question Id : 91394318647 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Tord 1 Tgdiaes IqE 9MT Sl €

Options :

91394373261, R <l

ﬁ i
91394373262, HIEH I
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91394373264,

Question Number : 17 Question Id : 91394318648 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The relational approach in classroom communication comes from :

Options :

91394373265, Intra-personal communication

Inter-personal communication
91394373266,

SERIEREEER Organisational communication

91394373068, Mass communication

Question Number : 17 Question Id ; 91394318648 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ; (0

FHEN GUY0 § Heierees U frad 9red 2idr 82

Options :

91394373265, 3[“{"%3% FYTT
AR qTFash Y9l

91394373266.

91394373267. SHCRISES Elil M

91394373268. S

Question Number : 18 Question Id : 91394318649 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Classroom speech is considered as a :

Options :
91394373069 1echnical medium

91394373270, Non-technical medium
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91394373071, Mass medium

91394373272, Unorganised medium

Question Number : 18 Question Id : 91394318649 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

HETA GYUTYT <] R HHE] Sl © 2

Options :
deheilehl ATEH

912942732683,

91394373270. 'ﬁ'{—Elili Th! HIEAH

91394373271. ST HIFH

913394373272. 54 Ila*l HI=TH

Question Number : 19 Question Id ;: 91394318650 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : (0
In a classroom, communication becomes effective when participants are :

(a) Active

(b) Empathetic
(c) Heterophilous
(d) Homophilous
(e) Silent

()  Uncritical
Code :

Options :

(), (b), (c) and (d)

91384373273

s1394373274, (D) (€) (d) and (e)

(a), (b), and (d)

913394373275.

s1394373076. (O (€) and (f)
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Question Number : 19 Question Id : 91394318650 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T well H WU Grelt B  afe qfaam
(a) EiFa &

(b) HHHYfTRE B

(c) Towmfet S

(d) GEfe S

() HFH

(f) IS €Y Y AHHM Hd B
he

Options :

(a), (b), (c) 3R (d)

91394373273.

(b), (), (d) 3R (e)

91334373274.

(a), (b), 3R (d)

91394373275.

(9), (e), 3T (f)

91394373276.

Question Number : 20 Question Id : 91394318651 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The information seeking strategies of students are :

(a) Entropy-oriented
(b) Overt

(c) Non-functional
(d) Indirect

(e) Third party

(f) Testing
Code :
Options :

91394373277, (), (b), (d) and (e)
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91394373278, (b), (c), (e) and (f)

(b), (d), (e) and (f)

91394373279.

s1394373280. (&), (B), (c) and (f)

Question Number : 20 Question Id : 91394318651 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

BT HT G TSV I 1 Jioadl arl &
(a) TeitgT-39E

(b) T
(c) SThMIHS
(d) 3TTaY

(e) T U
(f) Td&m

he

Options :

(a), (b), (d) 3R (e)

91394373277,

(b), (), (e) 3R (£)

91394373278.

91394373279. (b), (d), (e) e’ﬂ-{(f)
91394373280. (a), (b), (c) 3R ()

Question Number : 21 Question Id : 91394318652 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

If DIVE is coded as IMYG, then the code for TAKE will be :
Options :

91394373281. XFMG
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91394373282. YENG
91394373283. TEMG

91394373284. XENG

Question Number : 21 Question Id ;: 91394318652 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Optiun Orientation : Vertical

Correct Marks : 2 Wrong Marks ;

Hﬁbwnﬁmm?ﬁmﬁwmw%ﬁrmmm@m

Options :

91394373281. XEMG

91394373282. YENG

TEMG

91394373283.

XENG

91394373284.

Question Number : 22 Question Id : 91394318653 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The next term in the series is :
56, 40, 27, 17, 10,

Options :

91394373285. 6

91294=732E8E. 7

8

91394373257.

91394373288. d

Question Number : 22 Question Id : 91394318653 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
39 QG Sl T HIT
56, 40, 27, 17, 10,

Options :
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91394373285. 6

91394373256. /

91394373287. 8

91394373288. S

Question Number : 23 Question Id : 91394318654 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The next term in the letter series is :

ME, KH, IK, GN, 1S ¢

Options :

91394373288S. EQ

91394=73290. CK

91294=73291. BD

91394373282. DF

Question Number : 23 Question Id ;: 91394318654 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Optiun Orientation : Vertical

Correct Marks : 2 Wrong Marks ;

U Gl hl YU ﬁﬁrq
ME, KH, IK, GN,

Options :

=4
91394375289. EQ

91394373290, CK

91394373291. BD

91394373292, DF

Question Number : 24 Question Id ;: 91394318655 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks : 0
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Choose the word which is different from the rest.
Options :

Eyes

91394373293.

91394373094 1NOSE

egs
91394373295, L &

SissusEe Laands

Question Number : 24 Question Id : 91394318655 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Optiun Orientation ; Vertical

Correct Marks : 2 Wrong Marks ;

ﬁmﬁr@aﬁﬁéﬁﬁﬂﬁﬂﬁ'{

Options :

e

91394273293 SaliC)

913394373294, ITch

91394273295, DLy

91394373296. 214

Question Number : 25 Question Id ;: 91394318656 Question Type : MC(Q Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;
Ram said, “I am the only child of my mother”. Next he pointed to a boy and continued,
“This boy is the husband of the grandchild of my mother”.

How is Ram related to the boy ?

Options :

91394373297. Father

Grandfather

91394373298.

91394373299 Drother-in-law

91394373300, 1 ather-in-law

Question Number : 25 Question Id : 91394318656 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0
9 9 e, 8 31T AT ol 3Tchall 9cieh & 59 91 39 U @S i 31N SV id g4 Ha, ' I8
A B AT & Ui &1 U g1

9 1 39 TSF § 1 Ty 82
Options :

91394373297. I Il

91394273298, 1al

-3l

91394373298.

91394373300, hle{-g1-dl

Question Number : 26 Question Id : 91394318657 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two premises (a) and (b).
Four conclusions are drawn from them. Select the code that states validly drawn conclusion(s)
[taking the premises individually or jointly].

Premises : (a) Some women are teachers.
(b) All teachers are hard-working.
Conclusions :
(i)  All hard-working people are teachers.
(i) All teachers are not women.
(i) Some hard-working teachers are women.
(iv) Some women are hard-working.
Code : |
Options :
91394373301. (I) and (11)

(i) and (i)

91394=73302.

(1) and (1v)

91394373303.

(111) and (1v)

91394373304,

Question Number : 26 Question Id : 91394318657 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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e T SMYR-a1 5T T (a) 3R (b) |
28 ¥ =R freend 3gyd fRT T €1 39 Fe 1 gie 5 Trsed (W) & Sfea &9 # 3o foman T
¢ [STMR-<TeRT <hl Tehel &Y H 91 G €Y § o gq] |
MMAR AR :  (a) FD Higemd foers &
(b) |t Rrarer TRt €|
frepd () |l A A fews €
(i) @t foerer wfeemd 7= €
(i) Fo TETd e afeart €1
(iv) F Afeard FeTd € |

e

Options :

91394273301.

(i) 3T i)

91394373302.

(i) 3R (iv)

91394273303,

(i) 3R (iv)

91394373304,

Question Number : 27 Question Id : 91394318658 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In which of the following arguments the conclusion can be no more than probable ?

Options :

912394273305. Imp licative

Analogical

91394373306.

91394373307, Deductive

91394373308, Demonstrative

Question Number : 27 Question Id : 91394318658 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Trfafea # 9 feg g & ferd dursg 8 sty T8 31 Td 82

Options :
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91394373305, g

RIS
IBULEIRIED

91394273307.

91394373306.

91394373308.

Question Number : 28 Question Id : 91394318659 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
“To slow a beast, you break its limbs.

To slow a nation, you break its people.”

- Identify the argument involved in the above :

Options :
91394373309, INAuctive

91394373310, Deductive

91394373311. Analoglcal

91394373312 Demonstrative

Question Number : 28 Question Id : 91394318659 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fert SRRt WY TR AfEH F 3 faU o T ohfi 1 e ¥
et et 9ITd ek o ToTw 319 981 & &l H R Sa R g 1"
IUge H HfIfed deh g

Options :

HITHATHh
91394373309. ¢

91394373310, (TS
(..
91394373311 G RITHA
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91394373312.

Question Number : 29 Question Id : 91394318660 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

“The relation that exists between Premises and Conclusion is that of logical necessity” - is the
case with which of the following arguments ?

Options :

9129427331z Inductive

91394373314. Deductive

91394373315, Demonstrative

o1394373316, LrNalogical

Question Number : 29 Question Id : 91394318660 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

“ YrETeR AR Frerd & g faemm Sey difhes STaehdl 8 - I8 99 FEfaied 8 9 59 75
TR E?

Options :

HITHATHh
91394373313, ¢

91394373314. [ﬁ:lq:ucqm
91394373315. Slaﬁiillcl:lali

91394373316. E 3

Question Number : 30 Question Id : 91394318661 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Among the following statements, two are contradictory to each other. Select the code that
represents them.

Statements : (a) All surgeons are doctors.
(b) Some surgeons are doctors.

(c) Some surgeons are not doctors.
(d) No surgeons are doctors.

Code :
Options :
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91394373317 (@) and (b)

(a) and (d)

91394373318.

s1394373310, (P) @0 (d)

(b) and (c)

91394373320.

Question Number : 30 Question Id : 91394318661 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

frefafad oMl § < %99 T g & TR ol §1 3% Fefua @ amen 32 9
HIT . (a) G weafafEe fafecs ¥

(b) TS THATAhed® fafhed® © |

() FB vATahes® fafdcas & € |

(d) o Vearafhes fafaas @ €

e

Options :

(a) 3R (b)

91394373317.

(a) 3TR (d)

91394373318.

(b) ¥R (d)

913343733189.

(b) 3R (c)

913943733520.

Sub-Section Number: 4
Sub-Section Id: 913943962
Question Shuffling Allowed : Yes

Question Id : 91394318662 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions ; No

Question Numbers : (31 to 33)
Question Label : CDmpI'EhEHSiOH
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Monday Tuesday Wednesday
Time Distance Time Distance Time Distance
Cab (Hours) (kms) (Hours) (kms) (Hours) (kms)
A 16 656 12 480 10 410
B 10 700 14 490 18 720
C 11 770 13 650 16 640
D 12 744 15 825 14 840
E 14 826 14 728 12 840

The table given above gives the number of kilometers travelled and the number of hours
taken by five cabs A, B, C, D, and E. Data on three days is given - Monday, Tuesday and
Wednesday.

Use the above data to answer the questions given below.

Sub questions

Question Number : 31 Question Id : 91394318663 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The average speed of cab A for the three days taken together is approximately :

Options :

91394373321, 10 km/hr

20 km/hr

91394373322.

30 km/ hr

91394373323.

40 km/hr

91394373324.

Question Number : 32 Question Id : 91394318664 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The difference between the average speed of cab C and cab E on Monday is :

Options :

91394373305, 11 kms/hr

91394373326, 21 kms/hr

31 kms/hr

913394373327.

41 kms/ hr

91394373328.

Question Number : 33 Question Id : 91394318665 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0
Which cab travelled the most in the three days taken together ?
Options :

91294273328, B

91394373330. C

91294273321, D

E

913394373332.

Question Id : 91394318662 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 33)
Question Label : Comprehensi-:}n

AR HIAIR FHAR
(RiH) | (i d) | (s@id) | (mA#H) | (L) | (w4 FH)

X
A 16 656 12 480 10 410
B 10 700 14 490 18 720
C 11 770 13 650 16 640
D 12 744 15 825 14 840
E 14 826 14 728 12 840

Eﬁmmﬁw%mﬁﬂh&aaaﬁmm@w;w 3R FHER FI 99
fepu w3 = dEm B
SUYe 3RSl T STAN HLW ¢ e e T g9+ & I e |

Sub questions

Question Number : 31 Question Id : 91394318663 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

P Toemet a ‘A’ &1 i Tl 1 i wifa emem <l

Options :

10 TowearHTeR gfa e

913943733521.

91394373322, 20 foraieR ufd =a
91394373323, OV feretteX ufd a1
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91394273324. 40 i l \“ ” X ‘gﬁf Hel

Question Number : 32 Question Id : 91394318664 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TR i e C 3R Fa E &1 379d g § faamn faw 272

Options :

91394373325, 11 [ETGIEICAN I REA
21 feperHieR gfd s

91394373326

- 31 TR gfd e
41 TereATHteX 9 siel

91394373327

91394373328

Question Number : 33 Question Id : 91394318665 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
o fei H fore hel gT0 waiiferes g8 99 1 T 2

Options :

9133943733289. B

91394373330, C
D

91394373331.

(1

91394373332.

Sub-Section Number: 5
Sub-Section Id: 013943963
Question Shuffling Allowed : Yes

Question Number : 34 Question Id : 91394318666 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following diagrams indicates the best relation between India, World and
New Delhi ?

Options :
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91394373333.

©

O O

91394373534.

91394373335. O

91394373336.

Question Number : 34 Question Id : 91394318666 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frfaiaa § 9 form wanfes H urd, fava IR & fooet o o9 aiad e & ferd foan mn g2

Options :
O

91394373333.

©
91394373334.

O O
91394373335. O
91394373336.

Question Number : 35 Question Id : 91394318667 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following diagrams best represents the relationship between, family, family
member and domestic help ?
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Options :

913942373337,

91394373338,

91384373339,

913942733240, C) () ()

Question Number : 35 Question Id : 91394318667 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
frefafeaa § § forg Yarfas § oiErR, aiem IR =g A/ A & o9 dey o) gaiag €9 §
frefia foFan T 82

Options :

91394373337.
91394373338.
91394373339.
91394373340.

Question Number : 36 Question Id : 91394318668 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is not a Network Topology ?

Options :
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91394273341

91394373342

913394373543.

91394273344.

‘Ring

Bus

Star

_ Chain

prepp
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Question Number : 36 Question Id : 91394318668 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frafafea § 9 SHA-91 J2ad giftefa (Sdest) & g2

Options :

91394373341.

91394273342,

T
<A

91394373343. N

91394373344.

E3-AR

Question Number : 37 Question Id : 91394318669 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match the following :
-1

List

a) Browser

b

o —

d) E-mail

The correct code 1s :

(a)

Options :

91394373345.

91394373346.

(b)
(i)

L

(111

(c)

(
(
() Operating System
(

(d)

@) (@

(iv)

(11)

Programming Language

(v)
(1)

List - II

Outlook

DQOS

Internet Explorer
Fortran
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91394273347. (H) (Hl) (IV) (1)

91394373348. (IV) (Hl) (H) (1)

Question Number : 37 Question Id : 91394318669 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Frefafaa =1 e ¥
el - 1 = - 11
(a) WSK
) HRITHT e
c) W faeeH
d) 3-Hd
A F T :
(@ (b) () (d)

=5

o

Options :

o1304373345, 1) () () ()
91394373346, (i) (v) (@) ()
01394373347, 1) () (v) (D)

91394373348. (IV) (111) (II) (1)

Question Number : 38 Question Id : 91394318670 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



www.prepp.in ' re p p

Which of the following denotes the Internet hardware requirements ?
(a) Hub

(b) Bridge

(c) Router

(d) Gateway

() Modem

Code :

Options :

(e) only

91394373349.

(), (b) and (e)

91394373350

(b), (c), (d) and (e)

91394373351.

a1394373352. (&) (B), (€), (d) and (e)

Question Number : 38 Question Id : 91394318670 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fr=fafed § 9 F-91 S22 SEaaR SavIshdisii hl SUidl 8 2

(@) =
(b) T
(c) W3S

(d) =
(e) HIEH
che

Options :

91394373349. (E)

91394373350, (), (b) 3R (€)
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(b), (c), (d) 3R (e)

913394373551.

(a), (b), (c), (d) ¥R (e)

91394273352,

Question Number : 39 Question Id : 91394318671 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A set of rules used In communications in a network is called :

Options :
91394373353, [Nterface
91394373354, L rotocol

91394373355, Address

91394373356, Reference

Question Number : 39 Question Id : 91394318671 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ueh ek o GUu § Y Tl o 9Y=aa i el 5§ ¢

Options :

91394373353. :
91394273354. ‘” EI hTc]

91394373355. ' g
TH{E

91394373356.

Question Number : 40 Question Id : 91394318672 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following are pointing devices ?

(a) Trackball (b) Touchscreen
(c) Graphic Tablet (d) Joystick
Code :

Options :
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91394373357, (a) 0111}’

(a) and (d)

91394373358.

01394373359 (@) (D) and (d)

(), (b), (c) and (d)

91394373360.

Question Number : 40 Question Id : 91394318672 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frefafeg § 9 -9 @R 3y g2
(c) ek C&eTe (d) ware®

Options :

I (a)

91394373357.

(a) 3R (d)

91394373358.

(a), (b) 3R (d)

913943733589.

(a), (b), (c) 3R (d)

91394=73360.

Question Number : 41 Question Id : 91394318673 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A study was carried out on the drought resilience in India. Which of the following States

show highest level of handling drought ?
Options :

Telangana, Andhra Pradesh, Tamil Nadu

91394373361.

51394373380 Odisha, Karnataka, Kerala

Sikkim, Punjab, Arunachal Pradesh

9139423733€3.
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1394373364 Jharkhand, Chhattisgarh, Jammu and Kashmir

Question Number : 41 Question Id : 91394318673 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
IR H g fd ®Ire < 91§ T 31533A o | e | 9 60 T O g ¥ e
T T <@ T € 2

Options :
T, Y U<, A

91394373361.

91394373362, stife, hrllcn, Rl

91394373363. |E|I & l? Tl l? ASRIUENRIE

91394373364,

Question Number : 42 Question Id : 91394318674 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The most harmful types of environmental pollutants are :
Options :

91394373365, Human organic wastes

—— Wastes from faecal matter

9139437335> 1Non-biodegradable chemicals

T Natural nutrients present in excess

Question Number : 42 Question Id : 91394318674 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Taifee BIehReh JaTaoe Ugue ¢ :

01394373365, TG wid Y
fass1 =1 3T9a=

91394373366,
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91394373367.

UTeh{cish Urdeh dcal ohl ST

9139427 33€8.

Question Number : 43 Question Id : 91394318675 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Assertion (A) : Natural gas is a very attractive eco-friendly fuel.

Reason (R) : [t produces few pollutants and less carbon dioxide per unit energy than
any other fossil fuel on combustion.

Code :
Options :

SEasssEg Both (A) and (R) are true and (R) is the correct explanation of (A).

01304575570 Both (A) and (R) are true and (R) is not the correct explanation of (A).

91394373371 (A) 1s true, but (R) is false.

(A) is false, but (R) is true.

91394373372.

Question Number : 43 Question Id : 91394318675 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ARURAT (A) :  TTFHITh 79 Iga SThuH TAER0-Gad T84 T

&IT (R) ; 35 T&T b IYEId el 317 SIaTYH $6F oh1 37Ul 1 YW ad AR Ufd gfe
ol H HH FHEd SHSAFIRES 370 2l 2|

e
::;3359, (A) 3R (R) SHi 9t € 31 (R), (A) 1 W&l A1 B |
easaraeg () SR (R) S T T IR (R), (A) FT T AR T T
o1s9azrazrs, (A) TG €, TG (R) T €

s1sossraar, (A) T T, T (R) W& €

Question Number : 44 Question Id : 91394318676 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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What percentage of energy coming from the Sun is re-radiated towards the space ?
Options :

w 0
913894375573, 15%

25%
91394373374

0
91394273375, 307%

0
91394373376. 50%

Question Number : 44 Question Id : 91394318676 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A 9§ IQYA et 1 Tehar gfaera sfafter § ga:fafeia g g2

Options :

0
91394373373 15%

0
91394373374. 25%

0
91394373375. 30 /o

0
91394373376. 50 %

Question Number : 45 Question Id : 91394318677 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
As per Central Forestry Commission (CFC), how many forest types are found in our

country ? |
Options :

91394273377, 15

20

91394373378.

91394373379. 28

16

91394373330.

Question Number : 45 Question Id : 91394318677 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1 et AN (FL.UE..) & STT9R 3R U H fhaq TR & a9 9 914 © 2

Options :

91394373377. 15

20

913943733783.

91294273373, 28

16

91394373380.

Question Number : 46 Question Id : 91394318678 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The number of open universities and directorates of distance education whose courses are

recognised by UGC as on August 9, 2018, is :

Options :

91394=73381. 49

oS3

91394373382.

_
91394373383 OO

91394373384. 62

Question Number : 46 Question Id : 91394318678 (Question Type : MCQ Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : (0
9 3T, 2018 i e & STTUR .S Hi. TR AT Ut Sy f¥en feenerdi o) et fovafaemerdi
& TS

Options :

91394373381. 49

91394373382, DO

58

91394373383.

62

91394373384,

Question Number : 47 Question Id : 91394318679 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0
Match the following :

List - I List - 11
(a) Open University () Odisha State Open University, Odisha
(b) Dual Mode University (i) Amity University
(c) Mixed Mode University (iif) Indian Institute of Science, Bengaluru
(d) Deemed University (iv) University of Mumbai, Mumbai
(e) Specialised University (v) School of Planning and Architecture, New Delhi
Code :

(@) (b) (c) (d) (e)

9:t;;n:;?3385. (111) (H) (V) (1) (IV)

91394373336. (1) (IV) (H) (lll) (V)
913943733587. (V) (1) (IV) (H) (Hl)

stsguzeazes ) @) () (V) aly)

Question Number : 47 Question Id : 91394318679 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

-1 T - 1
(a) Yo Tavafaemed (i) oAifeen T g favafaamem, sifesm
(b) 59 W&y fovafaame (i) Tl feavaformera
(c) TufYd wey fawefaae™d (i) YRAHE 99 S8IE, ST
(d) wifa faeafarme (iv) Yo fogafo=med, g=k
(e) Tovro=an Ui favafaamea (v)  THESH w9 argeren fammem, =€ oo

@ (b) () (d) (e

Options :

o13943733ss, @D (@) (v) (@) (W)
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91394373336. (1) (IV) (H) (111) (V)

91394373357. (V) (1) (IV) (]_I) (U_l)

91394373388, i) (@) @ @) (v)

Question Number : 48 Question Id : 91394318680 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which private institutions in the following list have been granted the status of ‘Institutes of
Eminence’ by the MHRD ?

(i) BITS, Pilani

(i) MAHE, Manipal

(i) Symbiosis, Pune

(iv)  Amity University, Noida

Choose the correct answer from the code given below :

Cade:
Options :
91394373350, ) and ()
91394373390, O and (i)
91394373391, O and (i)
(ii) and (iv)
91394373392,

Question Number : 48 Question Id : 91394318680 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

.G AR, g Fefafan o= 3 s wgde wen i s ot e’ Rea i wiwh
ARIES

() iem (f.enddwm.), Rer
() wWuwEs., e

(i) TerartEE, g

(v) e gfaR, A

f fRm e 3= # & T s hec
He:

Options :
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i) (i)
91394573389, W

91394373390, A

91394373391. i i

i) T (iv)
91394373392, @ ¢

Question Number : 49 Question Id : 91394318681 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
One of the first states to establish a higher education council was :

Options :

 Sikkim

91394373393

Goa

91394373394,

91394373395 ANdhra Pradesh

| Jammu and Kashmir

91394373396

Question Number : 49 Question Id : 91394318681 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

émﬁmnéﬂaaﬁwmmaré%ﬁwfr@rw%

Options :

91394373393. |E|I S

91394373394. " 1l

91394373395. HIY HRT

ST 3 HYHI

91394373396, =

Question Number : 30 Question Id : 91394318682 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
State higher education councils are established under the instruction of :
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Options :

NITI Ayog

91394373397, O

91294273398, RUSA

CABE

913943733989.

91394373400, L USA
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Question Number : 50 Question Id : 91394318682 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

T S=aa T¥nen afitug &t TIma fhdeh 3TeY o ST Bl € 2

Options :

91394373397. i”‘l 3l ”l

91394373398. il

WS

91394373399.

91394273400, 1‘

Group Number :

Group Id :

Group Maximum Duration ;
Group Minimum Duration :
Revisit allowed for view? :
Revisit allowed for edit? :
Break time:

Group Marks:

Section Id :

Section Number :
Section type :
Mandatory or Optional:
Number of Questions:

Number of Questions to be attempted:

Section Marks:
Display Number Panel:
Group All Questions:

Paper II

o
913943246
120

120

No

No

{

200

17 Management

0913943246
1

Online
Mandatory
100

100

200

Yes

No
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Sub-Section Number: 1
Sub-Section Id: 013943964
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 91394318683 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : A price reduction leads to an increase in the quantity demanded of the
commodity.

Reason (R): It results from price effects comprising income and substitution effects which
are always positive.

Code:
Options :

Both (A) and (R) are correct and (R) is the right explanation of (A).
91394373401,

Both (A) and (R) are correct, but (R) is not the right explanation of (A).
91394373402, L ) { A w o

(A) is correct, but (R) is incorrect.
91394373403,

Both (A) and (R) are incorrect.
91394373404,

Question Number : 51 Question Id : 91394318683 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

= gt o g e §, il @ v il (A) R ofR g ok (R) % 1 el ot i o e fg g
e I SN H TG I AT |
e (A) ; U 4 311 |/ a%g A wift g A A g qt B

% (R) : g oA TN o FHRU Fral ¢ o o AR s e wfdifa § <t 989 wRrens

qid 2 |
C %
Options :
91394373401, 3R (R) T 9l & 74T (R), (A) h |t =aren 2 |
(A) 3R (R) i Tt &, T (R), (A) A ot =aveen 7 2 |
91394373402,

A) y (R)Tdd = |
91394373403. { Hﬁi%tﬂv‘-@ !
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91394373404, AL Ry i Wi |

Question Number : 52 Question Id ; 91394318684 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ;

Indicate the correct code from the following types of the long run average cost curves on
which the minimum average cost of production in long run can be determined :

(i) Long run average cost curve under normal production function
(i) Long run average cost curve under linearly homogeneous production funection
(iii) Planning curve

(iv) Envelope curve

Choose the correct answer from the code given below :

Code:
Options :
Only (i), (ii) and (iii
913943734065, y @, 1) i)
Only (ii), (iii) and (iv
91394373406, y (), 4D G
Only (i), (iii) and (iv
91394373407, y (@, (i) el
Only (ii) and (iv)
91394373408,

Question Number : 52 Question Id : 91394318684 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fefafad @ & Safaf itaa @rrd 56, % 38 THR % e @8 g 1 w3 i om W fofafe §
IeqTe Y = 3ftea @ i Frafor foe s awa 7

(i) WG IATEH Bt & H=aiia Saiarer HEa 9T 956

(i) T TUET S SO & JA-aia qraar {iEd ST 956
(iii) e T

(iv) G (THEe) 956

Frer e e e | | T W = g
6

Options :

hae (i), (i) I (iii)
91394373405,

hae (i), (i) 3 (iv)
913943734086,
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hae (D), (iii) 3R (iv)
91394373407,

had (ii) 2 (i)
91394373408,

Question Number : 33 Question Id : 91394318685 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Monopoly situation in the market is not desirable mainly because the monopolist

Options :

seeks to earn net revenue on the sale of all goods including those involving no cost of

production
91394373408,

is able to earn net revenue in all time periods
91394373410,

is able to charge different prices from different categories of buyers
91394373411.

will produce below its economic capacity level when it exhibits satisfaction with the normal

profit only.
91394373412,

Question Number : 33 Question Id : 91394318685 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
AR | whiiter i feuft yeua: st qidt  wwifs wiftren

Options :

a¥ft gt <t foshl T et Trstea shATT ST 2, S g WOt o W $ Wit Seurer wnTa i

Arft 2
913943734089,

R a¥lt guarafeEt ¥ faa TR an 9@ # g 2t 2

fafser soft < Sharent @ Srem-sta ST TS AhHaT @
91394373411.

W 98 Had G N B G T B, 9t 98 219 1 &t TR | 9 IEA AT ]
91394373412,

Question Number : 34 Question Id : 91394318686 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Indicate the correct code for appropriate combination of the following that constitutes the
form of price discriminating strategy :

() Postage stamp pricing

(ii) Basing point pricing

(iii) Incremental pricing

(iv) Free on Board pricing

Choose the correct answer from the code given below :
Code:

Options :

Only (i), (ii) and (iii
91394373413, s Vil

Only (ii), (iii) and (iv)
91394373414, y (i), Gl (

Only (i), (ii) and (iv
91394373415. il A Gl

Only (iii) and (iv)
91394373416,

Question Number : 34 Question Id : 91394318686 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

qed faigast Wt % 9 i 73T F 1A TSH! o ITGH FASH og Tal B Pl T4 DI ;
(i) 3 feshe geum

(i) snuriisd farg feaa
(iii) IFGI Te
(iv) IiEET ArTd g (6. 3.4 ) qea

frer e e %2 # B Tt W 6 g
C -5

Options :

hae (1), (i) M (iii)
91394373413,

hae (i), (i) 3 (iv)
91394373414,

Fae (i), (i) A (iv)
91294273415,

had (iii) 3R (iv)
91394373416,
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Question Number : 55 Question Id : 91394318687 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Indicate the correct code for discounted cash flow techniques for capital investment
proposals from the following :

(i) Net Present Value Method

(ii) Internal Rate of Return method
(ili) Excess Benefit-Cost Ratio method
(iv) Net Terminal Value method

Choose the correct answer from the code given below :

Code:
Options :
Only (i), (ii) and (iii
91394373417, (@, ) -
Only (ii), (iii) and (iv
91394373418, y (&), i (i)
Only (i) and (ii
91394373419, y @ )
Only (ii) and (iv)
91394373420,

Question Number : 353 Question Id : 91394318687 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

freafofiaa 5 & it s seamat & foe wgrsa Ushe Y18 Tt o fT T8t $e i =31 il
() Fraa adam gea fafy

(i) e $ wafs g fafy

(iii) Afafe wv-emTa stgara fafy

(iv) Fraa smafees g fafe

frer e e % # @ Tt W =6 g
6

Options :

hae (1), (i) I (iii)
91394373417,

91394373418, R (0, ) SR (]

ad (1) 3 (D
91394373419,

Had (ii) 3 (iv)
91394373420,
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Question Number : 56 Question Id : 91394318688 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Indicate the correct code for the points taken into consideration for product line pricing from
the following :

(i) Demand relationships of different products
(i) Competitive situation in the product market
(iii) Advertising endeavours for different products
(iv) Cost estimates for various products

Choose the correct answer from the code given below :

Code:
Options :
Only (i), (ii) and (iii
91394373421, (@, ) -
Only (ii), (iii) and (iv
91394373422, y (&), i (i)
Only (i), (ii) and (iv
91394373423, y @, i) ()
Only (ii) and (iii)
91394373424,

Question Number : 36 Question Id : 91394318688 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Frefafad 9 @ Ic9g T qo3w 7g F-4 famgatt =i eam | T a1 2 39 fofe W& §ie 1 =4
Hhifer
() faf¥m scarcl & win gag

(i) Jeare aR | wfeeedT fRufaai

(iii) faftrmr seargt o fere fersmo e
(iv) fafrm searsh = fore amra srwm
Frer e e e | | T W =6 g
B
Options :
e (1), (ii) 3 (iii)
91394373421,
Fad (i), (iii) 3R (iv)
91394373422,

hae (1), (i) I (iv)
91394373423,
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A (ii) 3 (i)
91394373424,

Question Number : 57 Question Id ;: 91394318689 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ;
In case there is a rise in general price level alongwith a declining output in the economy, it
is called

Options :

91394373405, 1nflation

Supply push inflation
91394373426, EENR

91394373457 Deflation

Stagflation
91394373428,

Question Number : 57 Question Id : 91394318689 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

afe refoqayt # find IaAEA &% WY-TY M- ed &R 7 9fg At 2, 9t 37 $a wrar 2
Options :

qarehife

91394373425.

e S ey

91394273426

91394373427.

whifg e
91394373428,

Question Number : 58 Question Id : 91394318690 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which among the following is not a broader classification of motivation ?
Options :
Positive motivation

913943734289,

Monetary motivation
91394373430.
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Negative motivation
913294273421,

Unitary motivation
91394373432,

Question Number : 5§ Question Id : 91394318690 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

frefafiaa # @ Ha-ar afSsron w1 sames ffeor 78 2 2
Options :

91394373429,

Hifeer rfrrom
91394373430,

913942373421.

Wk AT
91394373432

Question Number : 59 Question Id : 91394318691 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following is also known as ‘Cross Contacet’ communication ?

Options :

15945734y nteracalar communigon

1539437945y ARRecalar-communication

Extra-organization communication
91394373435.

91394373436, Concealed communication

Question Number : 39 Question Id : 91394318691 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fFrafefas # @ fora ‘oft qweh’ qSwor % 9 % SF S R 2
Options :

Hai-aifese qumo
91394373433.
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Hau-fese aumor
91394373434,

91394373435, e

Pl
91394373436 o

Question Number : 60 Question Id : 91394318692 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match the items of List I with the items of List IT and choose the correct answer from the

code given below :
List I List IT
(Type of Personality) (Suitability to Job)

(a) Sensation-thinking personality (i) Fit for human resource development job

(b) Intuition-thinking personality (ii) Fit for production and management position
(¢) Sensation-feeling personality  (iii) Fit for research and development position
(d) Intuition-feeling personality  (iv) Fit for science and technology field

Code:

Options :

91394373437 (a)-(ii), (b)—(iv), (e)(iii), (d)—()

g1sguz7many -0 (b-EEEE: (R0

91394373439 (a)—(id), (b)—(ii), (e)(iv), (D)D)

siasasrandy 0 (b0, (- Gy)

Question Number : 60 Question Id : 91394318692 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

et 1t wel i 11 R A & s it il = e T e 3 @ w6 s S gite |

g1 gt I
(=afrea =1 wHR) (& i Iugehar)

(a) GI-HIe ren safwe () wHa garE fem $r 3y SIgw
(b) qaiwrft-die aten safthed (i) SeNGH Td aUhE TG 7Y SIS
(¢) HAR-WIAT A1l ARG (i) 3FE9H U faprg 9 3 99T
(d) qatvTeht-sra S Safwa (iv) fomm o kiR 8 3 9

B

Options :
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91394373437, U (b)(iv), (e)(id), (d)—(D)

91394373438 (a)—(iv), (b)(iii), (e)—(ii), (d)—(i)

91394373440. (a)—(i1), (b)—(iil), (e)-(i), (d)—(iv)

Question Number : 61 Question Id : 91394318693 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Choose the correct code for the following statements being correct or incorrect.
Assertion (A) : Attitude develops over a period of time.

Reason (R): Attitudes are specific whereas values form a broader and more encompassing
concept.

Code:
Options :

Statement I is correct, but II is incorrect.
91394373441,

Statement II is correct, but I is incorrect.
91394373442,

91394373443 Both the statements I and 11 are correct.

913294373444 Both the statements I and II are incorrect.

Question Number : 61 Question Id : 91394318693 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Frefafas St & @ 1 T 3R % g 7 Ad g F 5 Hife )
ey (4) :  WAER Twa % qrg-ony faela w2 |

a (R) : wrgfrat fafire St § srafs qea wh saTs ol s gareh sraemon § |
F2:
Options :
oizguzragay,  TLUR R, B LA |
YT 11 98t ], g 1 TTeiq @ |

91394373442,
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F9q 1 3l 11
91394373443, AT

$Y9 1 3 11 <t Tad
91394373444, 3 g

Question Number : 62 Question Id : 91394318694 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : 1y ghe 21 century we are going to need a new generation of leaders; not
managers,

Reason (R):  Leadership is about developing a vision of the future rather than just
aligning people by communicating this vision and inspiring them to
overcome hurdles.

Code:
Options :

Both (A) and (R) are correct and (R) is the right explanation of (A).
91394373445,

Both (A) and (R) are correct, but (R) is not the right explanation of (A).
91394373446,

(A) is correct, but (R) is incorrect.
91394373447,

51394573448 Both (A) and (R) are incorrect.

Question Number : 62 Question Id : 91394318694 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

= § vy G e 3, o @ w aifirem (A) B ok g0 o (R) B | ol 9t fge oft A= fjg mo
e I TN H TqE 9L AT |
3firererT (A) : 2101 wraredt § g6 7% it 3 Janedl A sravEar 7; vEaeh H 6 |

dh (R) : A7 o gay wiasa & fag gfeesio fasfa 5@ @ 2 7 6 Faa @ g & asmm
TR W il g A T Al HI MM FA A S a FH 4 |

%
Options :

aal Sl TEl ST
91394373445. () 3T (R) T TEl & T (R), (A) 1 &l 2l

(A) 3 (R) gt Tt 8, g (R), (A) i Tt sorem 76 § |
9129427344e.
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A) ) R)Tcd = |
91394273447, (BT, T R !

A) IR (R Ted
91394373448, (&) 3T (B) < gl

Question Number : 63 Question Id : 91394318695 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
‘Gang plank’ breaks which one of the following ?

Options :

91394373449, Cross communication

91SS4ETIaEy: TS communication

91394373451 Vertical communication

91394373452, ocalar chain

Question Number : 63 Question Id ;: 91394318695 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ;

1 oot Frafafea 4 @ forem faseg w2 2

Options :

913942734483, R

91394273450, i

; ;
91394373451.

Hfese s@en
91394373452,

Question Number : 64 Question Id : 91394318696 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
Which among the following is a correct statement ?

Options :

Kaizen, in other words, is Total Quality Management !
91394373453, Quality Management (TQM)
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91294273454,

91394373455.

91394373456.

TQM is best explained with the help of Deming triangle.

Michael Hammer and James Champy have given the concept of TQM.

Production management is one of the variables of TQM equation.
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Question Number : 64 Question Id : 91394318696 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

fefafga A a sh-m s adi 2 2

Options :

913943273453,

91394373454.

91394373455.

91394373456.

HIFAA, 39 Wegt ®, Toher TVt e (Hag ) B |

& 7w, it S Breptor i weEar & o= 20 A s e s awar €

qghel R 3K oy ift 3 A, i s@urom § 2 |

IETE Vg E.F W0, Gl 1 T <R |

Question Number : 65 Question Id : 91394318697 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match the items of List I with the items of List II and choose the correct answer from the

code given below :

List I

(Role of Manager)

(b) Interpersonal role

(¢) Decisional role

Code:

Options :

91394373457.

91394373458.

91384373459,

91394373460.

List IT

(a)-(ii), (b)—(1), (e)-(iii)

(a)-(iii), (b)—(1), (e)-(ii)

(a)—(D), (b)), (c)-(ii)

(a)-(iii), (b)—(ii), (e)—(i)

(Functions of Manager)

(a) Informational role (i) Figure head, leader, liaison

(ii) Disturbance handler, resource allocator, negotiator
(ili) Disseminator, monitor, spokesperson
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Question Number : 65 Question Id : 91394318697 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

geft 1<t wit ot g=ht 11w & Rrem Aifs ofit i g o ge 3 3 vt st g |

(@) e et () TS T, I, Gh At
(b) adafes i 5, SR ‘ |
© PR G T, W, R
C T
Options :
91394373457, -4 (-0, (e)-LiiD)
gim04a74sg Ui, (b)), (-
91394373459 (a)-(1), (b){iil), (c)—(ii)
91394373460, 2 (B, (=)

Question Number : 66 Question Id : 91394318698 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Arrange the following steps of succession planning in the correct
sequence :

(i) Define competencies required to perform roles.

(ii) With future orientation, assess people against criteria.

(iii) Identify key roles for succession or replacement planning.

(iv) Develop employees to be ready for future key roles.

(v) Identify pool of talent that can potentially perform highly in key roles.

Choose the correct answer from the code given below :

Code:
Options :
i), (iii), (1), (iv), (v)
91384373461, (i, i), ), ¢ (
v), (i), (0, (i), (iv)
91384373462, (%), i), 0, ¢ (

912394373463 {]1}, (1)! '[111), (l‘i?), (V}
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91394373464, (), (D), (v), Giv)

Question Number : 66 Question Id : 91394318698 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

IR AT % FrefoRad swor =it @€ s 1 safen fif

i) i fedg % forg aifea ayma 5t wfenfa $er )

(i) wiss FETA % WY WIS AR Sl H T H |

(iii) ITUTEPR Tgan ey swEsAT % fon gea yfismiett i 9g= = %6 |

(iv) SHETiE T TEaqel i % fae dum % |

(v) i % 3@ gqg i vgam Fen St avifad 9 8 S weeqol it B g § |

Frer e e e | | T W =6 g
B

Options :

912394373461, {]1}, (m:l, (1]1 (“"), (v)

91394373462 (v), (i), (), (iii), (iv)

91394373463, 0 B (D, (), (v)

91394373464 {]]1), (!J! (11)1 (V), (lv_}

Question Number : 67 Question Id : 91394318699 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is/are true ?
(i) The concept of wage boards was first enunciated by the Minimum Wage Committee.

(ii) A wage board is bipartite in character.

(iii) Representatives of employers and workers on wage board are appointed by the
government after consulting the concerned organisations.

Choose the correct answer from the code given below :

Code:
Options :
Only (ii)
91394373465,
Only (iii)

91394373466.
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91394373467, Dot (D and (@)

i), (ii) and (iii
91394373463, (B smd, it

Question Number : 67 Question Id : 91394318699 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fFrefafaa 1 @ FR-ara F0F a5 378 2
(i) a7 | H AR FEHAH I Sa= afifa gra sfaarfea i 78 ot |
(i) a7 =re fguafa ypfa w1 2 |

(iii) Fo= S # Pt ofit Frrmd % sl 6 Fahe TR g et dret @ wed 76 %
A1e At 2 |

Frer e e e # | T W = g
B

Options :

FaA (i)
91394373465,

Fad (iii)
91394373466,

91394373467, 3R () FA

(i), (ii) 3 (iii)
91394373463,

Question Number : 68 Question Id : 91394318700 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Arrange the following steps of disciplinary procedure in the correct sequence :
(i) Issue a charge sheet
(ii) Notice of enquiry
(iii) Suspension pending enquiry
(iv) Conduct of enquiry
(v) Awarding punishment
(vi) Communicating punishment
(vii) Preliminary investigation
(viil) Recording of findings

Choose the correct answer from the code given below :
Code:

Options :
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91294=734E9.

91394373470.

9139437347 1.

91394373472.

(i), (1), (iii), (iv), (v), (vi), (vii), (viii)

(vii), (1), (iii), (ii), (iv), (viii), (v), (vi)

(ii), (vii), (i), (iii), (viii), (iv), (vi), (v)

(1), (vid), (ii), (iid), (iv), (vi), (v), (viii)
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Question Number : 68 Question Id : 91394318700 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

FITEATHT FHHaTs & Tafafan =i it a8 s 3§ sgafen fifm

() 9 A FE
(i) S g
(iii) 9 wiud G4 76 Haad

(iv) " w0
(v) S

(vi) <US T TN

(vii) TR S

(vii) Freeet st iftrerem
Frer e e e | | T W = g

B

Options :

91394373469.

91394373470.

91394373471.

91294273472,

(ii), (i), (iid), (iv), (v), (vi), (vii), (viii)

(vii), (1), (iii), (ii), (iv), (viil), (v), (vi)

(ii), (vii), (D), (iid), (viii), (iv), (vi), (v)

(), (vid), (i), (iid), (iv), (vi), (v), (viii)

Question Number : 69 Question Id : 91394318701 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who pays the lay-off compensation to a workman ?

Options :

91394373473.

Employer
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Employees State Insurance Corporation

91394373474
91394373475, State Government
91394373476, Central Government

Question Number : 69 Question Id ; 91394318701 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

FHIATR i FHIHA! FHl JAEH D a1 8 ?
Options :

91394373473.

91394273474, T i R

91294373475, =

g TR

91394373476

Question Number : 70 Question Id : 91394318702 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A Union security agreement aims at
Options :

getting more benefits from an organisation.
91394373477,

recognition of union by employer.
91394373478, Bs e el

determining the extent to which the agreement protects the union in holding its

membership and collecting its dues.
91394373473,

making jobs secure for members of the union.
91394373480,

Question Number : 70 Question Id ;: 91394318702 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : (0

Rrelt @Y gRan SR 1 96T BT R

Options :
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91394373477, q M ST ST !

et gro O R wreEa |
91394373473.

3 o 1 Felfor s g o e fedft 99 5 3T geerat SR T o AR ST ged

Y7 i THHT FA T T T @l 2 |
91394373479.

T9 < Ggedl < g e gafdra s 2 |

91394373430.

Question Number : 71 Question Id : 91394318703 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

As per the provisions of the Factories Act, 1948, match the items of List I with the items of
List 1T and choose the correct answer from the code given below.

List I List I1
(a) Cool drinking water during hot season (i) 150 workers
(b) Employment of safety officer (ii) More than 250 workers
(e¢) First aid box (iii) More than 500 workers
(d) Ambulance room (iv) 1000 or more workers
Code:
Options :

913943734gy -, (M-(EESED, (S0

o1san7aagy - (0=, (OTEEE -

91394373453 (a)—(iv), (b)iii), (e)—(ii), (d)—(1)

1504575454 @B 0D, (-G, (d)-Liv)

Question Number : 71 Question Id : 91394318703 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Faelt sifafrm, 1948 3 Iwadi % FER, G 16 71 T gt 11 761 | fram it ok = i
T % § & Tt W H g |
gt I e I
(a) T % FET & A SUSTEA () 150 FETR
(b) gram sttt 1 Feaem (i) 250 | b FEFR

(c) srfir fufoeen e (iii) 500 B 3Tfrh FIATR
(d) T (iv) 1000 32T 3R FETR
$e:
Options :
ssensyaagy - (bW, (-0, (-
91394373482 (a)-(i), (b)—iv), (e)-(iii), (d)—(ii)
simnEysugs Gl el
isgisraqsy W (-, (o (i), (d)-(iv)

Question Number : 72 Question Id : 91394318704 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Indicate the correct combination of the financial decisions from the following :
(i) Investment decisions

(ii) Financing decisions
(iii) Pricing decisions
(iv) Liquidity management decisions

(v) Dividend decisions

Choose the correct answer from the code given below :
Code:

Options :

Only (i), (ii), (iii) and (iv
91394373485. A %

Only (ii), (iii), (iv) and (v
913943734836, 00y il ) w

913943734g7, Ony B, (i), (v) and (v)

Only (i), (ii) and (iii
91394373488, y @y ) iy
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Question Number : 72 Question Id : 91394318704 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fFrefofas 4 & facfta fofat & a8 a9 =t 3 Hifs

() fraw foig

(i) fardteor Fofg
(iii) ea-Frafcer Fom
(iv) T yaua ol

(v) avie fof

Frer e e e | | T W = g

B

Options :

91394373485.

91394373486,

91394373487,

91394373488.

hae (1), (i), (iii) ¥R (iv)

Had (i), (iii), (iv) 3R (v)

A (i), (i), (iv) 3 (v)

Fae (i), (ii) IR (iii)

Question Number : 73 Question Id : 91394318705 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The optimum capital structure is supported by which combination of the following ?

(i) Traditional theory

(i) Net income theory

(iii) Pecking order theory

(iv) Net operating income theory

Choose the correct answer from the code given below :

Code:

Options :

91394373489.

91394373490.

91394373491.

Only (i), (ii) and (iii)

Only (1), (ii) and (iv)

Only (i), (iii) and (iv)
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R ——— Only (i), (iii) and (iv)

Question Number : 73 Question Id : 91394318705 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
geean doft gf=n Feafafas o & Rea weiem gro anfda & 2
() T frgea
(i) e sma fag
(iii) I < forgia
(iv) Frae afterem am fagia

Frer e e e 7 | T W+ g
B

Options :

e (i), (i) I (iii)
91394373483,

Hae (1), (i) IR (iv)
91394373490,

had (i), (iii) 3 (iv)
91294273491

Hae (i), (iii) 3 (iv)
91394373492,

Question Number : 74 Question Id ;: 91394318706 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Which one of the following is nof resorted to while issuing new securities in the market ?

Options :

91394373493, Oter for sale

Stock option
91394373494,

Placement on stock exchanges
91394373495,

Book building
91394373496,

Question Number : 74 Question Id : 91394318706 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks : 0
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TR | 75 sfosgfoat st Sl Fd wwa frafafas 9 @ fewen swh a8 e s g 2
Options :

913942734853, ReR

913943734594.

91394373495.

91394373496.

Question Number : 75 Question Id : 91394318707 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Indicate the code for proper sequencing for the process of venture capital financing from the
following :
(i) Deal origination

(ii) Due diligence
(ili) Screening

(iv) Deal structuring
(v) Exit plan

Choose the correct answer from the code given below :
Code:

Options :

91394373497, (@), Gv), (i), (i), (v)

91394373408, O (D (i, (v), (V)

91394373499, O WD, @, (¥), (¥)

T m—

Question Number : 75 Question Id : 91394318707 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks : 0
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Fem it frerdreor i wfsran % @t sn % fog FeafaRee §g o 32 3 A
() de $ el

(i) 3T aftem

(iii) = (EhifT)

(iv) GI2 I e
(v) frepra At

Frer e e %2 7 | T W = g

C T4

Options :

91394373497.

913943734983.

91394373498,

91394373500.

(1), (iv), (i), (iii), (v)

(i), (ii), (iid), (iv), (v)

(1), (iif), (i), (iv), (v)

(1), (i), (iv), (iii), (v)
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Question Number : 76 Question Id : 91394318708 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) :

Reason (R) :

Code:

Options :

91394373501.

91394373502.

91294273503,

91394373504,

As per M-M hypothesis the value of the levered firm is equal to the value of
the unlevered firm.

The process of arbitrage becomes applicable in such situations.

Both (A) and (R) are correct and (R) is the right explanation of (A).

Both (A) and (R) are correct, but (R) is not the right explanation of (A).

(A) is correct, but (R) is incorrect.

Both (A) and (R) are incorrect.

Question Number : 76 Question Id : 91394318708 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A5 @ Fom oy &, P @ o aiftepy (A)  ofit g@u 76 (R) 7 1 el 9 afge afi S Ry e

% 1 TN G I AT |

sfirpe (4) :  M-M IRFHETI % AR Switfera i i qed, Iraiferd o & qeg & qum g 2 |
T (R) : 7 g < uifeufoat # snfdies i fshan @mp 8t St 2 )

C %
Options :

aar S qEl ST
91394373501 () 3T (R) T TEl & T (R), (A) 1 =l 2l

(A) 3R (R) gH1 Tt 8, g (R), (A) i Tt sorem 76 |
91294=27350%Z.

A) y (R)Tdd = |
91394373503. { Hﬁl%tﬂ‘ﬁj ?

91394373504, CAYAICRY SFH I 4]

Question Number : 77 Question Id : 91394318709 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Choose the correct code for the following statements being correct or incorrect.
Statement I: Companies generally do not prefer low cost debt financing.

Statement IT : Raising debts requires credit rating and payment of interest even if
companies suffer losses.

Code:

Options :

Statement I is correct, but II is incorrect.
913943735065,

Statement II is correct, but I is incorrect.
91394373506,

91394373507 Both the statements I and II are correct.

91394373508, Both the statements I and II are incorrect.

Question Number : 77 Question Id : 91394318709 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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fFrefafaa o=t % w8 T Tad {1 % G § T T F WA A |
FgT]: AT A AN 9T o1 st 6t srerferar @ e |

FYTII: T A | e W h sragawdt Bt @ 79T FAAET AR F Fracgg Wi S FOWTaE
I 941 % |

%
Options :

U 19t 8, wg 11 7T 2 |
91394373505.

YT 119 ], 9g 1 TTeid 8 |
91394373508.

$Yq 1 3t 11
91394373507 WA

$Y9 1 3T 11 4t Tad
913943735083. 3 g

Question Number : 78 Question Id : 91394318710 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Firms normally finance the working capital needs as per which combination of the
following ?
(i) Trade credit

(ii) Bank finance
(iii) Commercial papers
(iv) Factoring

Choose the correct answer from the code given below :

Code:
Options :
Only (i), (ii) and (iii
91394373508, 3 @) )
Only (ii), (iii) and (iv
91394373510, y (&), (i) (i)
Only (i), (ii) and (iv
91394373511, A o
Only (i), (iii) and (iv
91394373512, ¥ () {i) )

Question Number : 78 Question Id : 91394318710 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Fafat Frifie it 6 sravamaedt % R iy amre: Fafalias § @ B sgar #f Feft
g ?

(i) SEATIR 0

(ii) % feaediaor

(iii) TS a3

(iv) el

Frer e e e | | T W =6 g
B

Options :

e (i), (i) I (iii)
91394373503,

had (i), (iii) 3 (iv)
91394373510.

Hae (i), (i) A (iv)
91394373511,

Hae (1), (i) 3R (iv)
91394373512,

Question Number : 79 Question Id : 91394318711 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The following two statements relate to marketing. Choose the correct code for the statements
being correct or incorrect.

Statement I : Marketing is about satisfying customer needs and wants.
Statement II : Marketing can be performed only by individuals and not by organizations.

Code:
Options :

Statement I is correct, but II is incorrect.
91394373513,

Statement II is correct, but I is incorrect.
91394373514.

91394373515, Both the statements I and II are correct.

91394373516, Both the statements I and II are incorrect.

Question Number : 79 Question Id : 91394318711 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

91394373513.

91394273514.

91394373515.

91394373516.

YT 1T 3, 96g 11 T4 2 |

oA 1198t B, T&g 1 7Teid B |

s IR ISt adt B

HY 1 3 11 <1 a2 |

prepp

Your Personal Exams Guide

Question Number : 80 Question Id : 91394318712 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Agsertion (A) :

Reason (R) :

Code:

Options :

91394373517.

91394373518.

91394373519.

91394373520.

The marketing costs of reaching loyal consumers are much lower because the
firm does not have to spend money on advertising and promotion campaigns
to attract these customers.

A high level of brand loyalty does not insulate the firm from competition.

Both (A) and (R) are correct and (R) is the right explanation of (A).

Both (A) and (R) are correct, but (R) is not the right explanation of (A).

(A) is correct, but (R) is incorrect.

Both (A) and (R) are incorrect.

Question Number : 80 Question Id : 91394318712 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A= qt ya fGg 7 g, i @ oo A (A) B 3 8T 7 (R) § | ol =t gy ok = fig e

% T AN F T IW YA |

STfirreT (A) :  THS3TAT UTEhi 0% Tga i Faavr @nTa bl 7 gt 3 it F4 i 3 I8 Al
it e fore famam @ yaR it w e @< 1 e vgan |

% (R) : - % ufa 3iferes Fsat @ ol wfcreaat @ - 78 36 |

R
Options :

A) 3 (R TAUT (R), (A) sht T&t sqrETt
91394373517, (R) 3 W&t & 94T (R), (A) & 2

(A) 3R (R) 1 Tt 8, 7g (R), (A) vt s =i 2
91394373518,

A) 3 R)TeAd = |
913894373519. W R !

A) IR (R Ted
91394373520. (&) 3T (B) ¥ gl

Question Number : 81 Question Id : 91394318713 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match the items of List I with the items of List IT and choose the correct answer from the

code given below.
List I List II
(Market segmentation method) (Sample segment)
(a) Demographic (i) Self-values
(b) Psychographic (ii) Convenience
(¢) Benefits (iii) Gender
(d) Behavioural (iv) Loyalty
Code :
Options :
i), (b)—(1), i), (d)—(i
— (a)(iii), (b)—(1), (e)-(ii), (d)—(iv)
9 ()i S (i
91394373559 (a)—(iii), (b)—(iv), (e)—(iD), (d)—(i)
i), (b)~(iv), i), ()~
5 SR AEAER (a)-(ii), (b)(iv), (c)-(iii), (d)—(i)
i), (b)), (e)-C0), (@~
—— (a)iii), (b)—(iD), (c)—(1), (d)—(iv)

Question Number : 81 Question Id : 91394318713 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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et 1t wel i 11 R A & s it il = e T e 3 @ w6 s S gite |

Tl 1 g I
(amem fawfreor agfd) (srfdrget wve)

(a) SHETRETHA () e

(b) FAIGfRH (i) gfae

(c) & (iii) e

(d) T gadt (iv) freat

C &

Options :

91394373521.

91384373522.

91384373523.

91394373524.

(a)-id), (b)—(i), (e)-(id), (d)—(iv)

(a)-(iii), (b)—(iv), (e)-(ii), (d)—(i)

(a)-(id), (b)(iv), (e)-(iid), (d)—(i)

(a)-(iii), (b)-{ii), (e)—(D), (d)—(iv)
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Question Number : 82 Question Id : 91394318714 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following relates to products or services for which consumers will spend a

fair amount of time comparing alternatives ?

Options :

913394373525.

91394373526.

91294273527,

913943735283.

Unsought products/services

Convenience products/services

Shopping products/services

Speciality products/services

Question Number : 82 Question Id ;: 91394318714 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : (0

frfafaa 3§ @ fras g9 37 JamEl roran dastt & 2, R foe arees faeedt it gamn 5 &

YA AT 2 2

Options :
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HAFifoq Ieare/aand

91394373525.

K -

91394373526

T Jeqre/dand

91394373527,

farf¥ree Jeare/aard

91394373528.

Question Number : 83 Question Id : 91394318715 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;
The following statements relate to social media.

Choose the correct code for the statements being correct or incorrect.
Statement I : Social media does not allow users to interact among themselves.

Statement IT : Social media helps facilitate the consumer’s decision process by encouraging
need recognition, information search, alternative evaluation, purchase
and post purchase reviews.

Code:
Options :

Statement I is correct, but II is incorrect.
913943735289.

Statement I is correct, but I is incorrect.
91394373520,

91394373531 Both the statements I and II are correct.

91394373532 Both the statements I and II are incorrect.

Question Number : 83 Question Id : 91394318715 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

frafafas sut T aeg Aina e a8 2 |

el % Tet 1 Ted 7 o Ged 7 T %2 F wa= i |
FyTl:  arva HieEn, s H Th-gE 8 a0 sEEl @ S |

Foug 1l araa Wifem, sravasar B yguE, gEAa h @l Jeicrs geare, @l @ el
adftan it wgran <R, Tl o # TS B wErEa WA |

C T4

Options :
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o 1 9d 8, 9 11 TTefd @ |
91394373529,

HYT LI T ], 7g 1 Teid 8 |
91394373530.

F9q 1 3l 11
91394373531, AT

$Y9 1 3 11 <t Tad
91394373532, 3 g

Question Number : 84 Question Id : 91394318716 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
“Explain the nutritional values of different foods” is an objective of which one of the
following social marketing programmes ?

Options :

Value campaigns
91394373533, PEaR

Action campaigns
91394373534, BEEn

Behavioral campaigns
913894373535, P

Cognitive campaigns
91394373536, o B

Question Number : 84 Question Id ;: 91394318716 Question Type : MCQ Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

“SafSra @y gerdl < qiwor geH wEw W qamr fFefafag 8 fea gt faavm s o )
2?

Options :

A
91394373533, o8

91394273524. L

SqaR att Af[mm
91394373535,

TIETeaS ABEE
91394373536,



www.prepp.in ' re p p

Your Personal Exams Guide

Question Number : 85 Question Id : 91394318717 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A manufacturer, to market its products, focuses on the following marketing channel
alternatives :

(i) Telemarketing

(ii) Distributors

(i1i) Sales force

(iv) Internet

(v) Retail stores

(vi) Value-added pariners

Select the code of correct sequence of the channel alternatives in order of increasing cost per

transaction.

Code:
Options :
91394373537, (iv), (v), (i), (vd), (i), (iii)
siusigaygnay 0P, (), G, (vD), 4D
91394373539, O 0¥ (), (¥), (i), (v)
91394373540, O U (%), (), GiD), (v1)

Question Number : 85 Question Id : 91394318717 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fafmtar 1o Iaarel Ht 9R 4 IarA & fore FefeRas faoom aram fosedt W am Sism = g
(i) <efi-mfhen

(i) faaw=

(iii) Torsht =@

(iv) e

(v) GaU WK

(vi) gea-aftfa wrfigr

g Hia <t @t ANTA  HH | e foshedt  qg 9 o T W T
Hifr :
C T4

Options :

§1264579557 0 O, (v, (D, D)
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iv), (1), (v), (ii), (vi), (iid)
91394273538, 0, B, (9, @, (7). ¢

91394373539 (), (iv), (id), (v), (iii), (vi)

91394373540. (@), Gv), (v), (i), (ii), (vi)

Question Number : 86 Question Id : 91394318718 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Match the items of List I with the items of List II and choose the correct
answer from the code given below.

List 1 List II

(2) X chart (i) Number of defects
(b) P chart (ii) Variations between samples
() C chart (iii) Variations within samples
(d) R chart (iv) Proportion of defectives
Code:

Options :

gsgds7aegy (B (- LW

91394373543, (a)-(ii), (b)—(iv), (e)—(1), (d)—(iii)

Sisgasyasay ok (B-UR)e-(il, (D

Question Number : 86 Question Id : 91394318718 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
gt 161 wgl o1 o= 11 < wg) @ e <hifste oi = fou o1e e 4 @ wdl se =
gHT |
geft 1 Tt 11

(a) X =r@ (1) e i wem
(b) P= (ii) ufagw & =g 3T
(¢) C=r (ifl) ufaesr & iR o7
(d) R=w (iv) FfeFi &1 3IE

L T

Options :
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siggaargsay b Ue-(il, (-0

9129427354z - ub; (D), (=D, ()i

s s s

Question Number : 87 Question Id : 91394318719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following concepts is nof related to product design ?

Options :

Reverse engineerin
91394373545, B &

91394373546, tandardisation

Concurrent engineerin
91394373547, B B

Enterprise resource planning
91394373548,

Question Number : 87 Question Id ;: 91394318719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks : (

fraferfaa 3 @ i ot sraumon Jarg fear @ weEfta a8 2 2
Options :

gfoem (feadd) sefifator
91394373545,

91394273546,

aqeadt (ehie) geltfafar
91394373547,

91394273548, S

Question Number : 8§ Question Id : 91394318720 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks : 0
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Arrange the operations in production planning and control in correct sequence :
(i) Routing

(i) Dispatching

(iii) Follow up

(iv) Scheduling

Choose the correct answer from the code given below :

Code:
Options :
i), (iv), (i), ()
913942735449, (@), Gw), (i), d
1), (iv), (ii), (iii)
91384373550. (@, (tv), ), (
iv), (1), (1ii), (i)
91384373551, ( (), (i) {
1), (iv), (ii), (il
91384373552, (@, {tv), (1), ()

Question Number : 8§ Question Id : 91394318720 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

IeqTeA ITRAT IR Fror o y=reHi i 98 shn 0 saafeya hifsm -

() =t T

(i) ST

(i) G

(iv) g

fre R me g # & s A g

C T4
Options :
91394373549, 0 (V) (I, )
gganseseey  Dndyl (0
91394373551, O @ D, @)
91394373552 (1), (iv), (id), (iii)

Question Number : 89 Question Id ; 91394318721 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The following statements relate to project network. Choose the correct code for the
statements being correct or incorrect.

Statement I : An activity cannot be represented by more than one arrow, but an arrow can
represent one or more activities.

Statement Il : The activities in a critical path can be preponed or postponed.

Code:

Options :

91394373553, Both the statements I and II are correct.

91394373554 Both the statements I and II are incorrect.

Statement II is correct, but I is incorrect.
91394373555,

Statement I is correct, but II is incorrect.
91394373556.

Question Number : 89 Question Id : 91394318721 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e feu e o afEiemT Ao & Falta § | Ut 6 Wal A TAT B S oM |’ ARl F< H S

Hfr |

FyT]: ohig it Uh | it TR | 76 <ol s st wg & IR 9 s 2
ot ghat g | nierfarferat

o 11 ;e gl e R g o e R o &

C %

Options ;

91394573553, P ISR T & |

91394373554 T IMMUTATTE I

91394373555, NFAE, Y I g |

SigsaszsEs T L q, g 7§

Question Number : 90 Question Id : 91394318722 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match the items of List I with the items of List IT and choose the correct answer from the

code given below.
List I List II
(a) Cycle stock (i) Hedge against the possibility of stockout

(b) Transit stock (ii) Stock to meet inventory cycle
(¢) Buffer stock (iii) Stock moved between various elements of supply chain
(d) Safety stock (iv) Extra stock to meet fluctuations in demand

Code:
Options :

gigaazgeey Ul (-G, (-0, (d)-liv)

si5aaaasEsy B b, (b, (-1, ()

91394373559, (a)-(iii), (b)—(id), (e)—(1), (d)—(iv)

grgsasracgy v (U, (@A), (D)

Question Number : 90 Question Id ;: 91394318722 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

et 1<t wi ot g=h 11 A ud | Prem Aifig ofit e fgg T ge 3 & w8t s =t g |
a1 et I

(a) AEfhe (T3PR) i () Wie @relt g4 H aursaa & feg 3

(b) TR (giffe) i (i) WHTEEl <% W FA & forg =i

(¢) TH WIh (iii) afet FEen % faftm Tt & S SaRE <

(d) g ®ish (iv) i 7 fa=em =t 0 F1 % fog sfefs wis

w2
Options :

gigaazgeey Ul (-G, (-0, (d)-liv)

s gt o Ny
9129427355y M uiby (), (=D, (d)-lv)

g13g4g7zseg 0" (B, (-, (d)-()

Question Number : 91 Question Id : 91394318723 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match the items of List I with the items of List IT and choose the correct answer from the

code given below.
List I List I
(a) Mean forecast error (i) Mean of absolute deviations of forecast demands from

actual demand values

(b) Mean absolute deviation (ii) Mean of the squares of the deviations of forecast
demands from actual demand values

(¢) Mean square error (iii) Mean of the deviations of the forecast demands
from actual demand

(d) Mean absolute percent error (iv) Mean of the percent deviations of the forecast
demands from the actual demand

Code:
Options :

— s st e

g15gaz7gsgy @ W ), ()-(19), (d)-(iD)

Question Number : 91 Question Id : 91394318723 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

=t 1 wel ot Tt 11 6 vt @ Frem i ok e fym e e 3 @ vt et gf |
ot I et 11

(a) A @A IR () Il @it et & @izwm wim % pf Reem e

(b) wrea Pt fmem (i) areafess win et & yatgam =it % faset % @t & me

(c) mrex ot Ffe (iii) SrEafess AT | qEiTAE qim S fa=eEl e

(d) wren ot wferw IR (iv) areafess win | qaiqam wint % i feem = me

RZ:
Options :

— s st e

giggdgzaeey O RO, (-9, -0

91394373564. (a)(iv), (b)—(1), (e)—(ii), (d)—(iii)
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Question Number : 92 Question Id : 91394318724 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The following statements relate to decision tree analysis. Choose the correct code for the

statements being correct or incorrect.

Statement I : A decision tree contains the probabilities of outcomes and the conditional
monetary values attached to those outcomes.

Statement Il : In a decision tree, ‘nodes’ at the left represent actions that occur before nodes
that fall farther to the right.

Code:
Options :

91394373565, Both the statements I and II are correct.

91394373556, Both the statements I and II are incorrect.

Statement II is correct, but I is incorrect.
91394373567.

Statement I is correct, but II is incorrect.
91394373568,

Question Number : 92 Question Id : 91394318724 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
FrfaRaa s Fofa g% favew @ wafa 3 | F9Al % w8 3 7o g9 % ged 1 wEl %2 1 9
e |
Fog ] . T o gy § it 6 aureaand aur 39 gRomt @ grag avd Jifge 1o e B § |

711 : o Frofa g4 # a9 e g’ 37 wiamsdl i guia 3 =t @ qreff o e SigE @
g ua g ¥ |

R
Options :

$9q 1 3t 11
91394373565. WD

F 1 3ft 11 2t TTea
91394373566, a i

HYT LI T ], 7g 1 Teid 8 |
91394373567

YT 1 9t 8, Tg 11 7T 2 |
91394373568,

Question Number : 93 Question Id : 91394318725 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

There are 'm’ number of favourable cases to event A and m’ are
non-favourable cases, both are equally likely and mutually exclusive, the

el This formula

probability of occurring the event A is P(A) =

m+n

corresponds to which one of the following approaches to probability ?

Options :

Classical approach to probabili
91394373568, FE e L

Statistical approach to probabili
91384373570. PP P i

Subjective approach to probabili
91394373571, : £ & i

Modern approach to probabili
913894373572, EE = v

Question Number : 93 Question Id : 91394318725 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

21 A % U ‘m’ s sgga Amel € 3R ‘n’ gen H ufdge wwd g, gHi
AU ®9 W Hufad qen W I9EEi B8 & | gedl A’ gfdd 3H hl Ayl
P(A) = 2 % | =8 g3 wifesan & Frafafaa § @ fem smaemon & 2w 2 2

m-+n

Options :

91394273563, ﬁ

91394373570. =

91394273571, ﬁ

sTRreRat sht Mg Sragren
91394373572,

Question Number : 94 Question Id : 91394318726 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following MIS systems is designed to capture, collect or enter the data to
process in a certain specified manner for further processing ?

Options :

Business function processing system
9139437357 3.
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Transaction processing system
913294273574,

Data processin stem
91394373575, P L4

In ated information processin stem
91394373576, tegr 5 g

Question Number : 94 Question Id : 91394318726 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

It s 7g foredt ffeem fafafdse ol & stisst & aifSargm, wugor ofk wfafee 2 Feafalas #
d -Ht yEaT g1 Jored (TR, ) AR FI 5 8 2

Options :

91394273573,

A9-3 THEHOT JuITeft
91394373574.

91394373575. s

aafsa gEmT SR orreft
91394373576,

Question Number : 95 Question Id ;: 91394318727 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : (0

Which one of the following is considered as a threat to database and
DBMS ?

Options :

91394373577, Tirewalls

91394373575, 1nsertion of viruses

91394373579, Cnauthorised access

Log of system failures
9139437 3580.

Question Number : 95 Question Id : 91394318727 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

freafafias # @ ford Serem i <&t o ug, % fore wau awsn Srar 2 2
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Options :

91394373577.

91394373578.

91394373579.

9139427 3580.

R AT

AT e

Rreen S w01 e
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Question Number : 96 Question Id : 91394318728 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following statements relating to Tests of Hypothesis are correct ? Select the

correct code,
Statement I :

Statement I1 :

Statement I11 :

Statement VI :

Statement V :

Code:

Options :

91394373581.

91394373582.

91394373583.

91394373584.

Type-1I error occurs when true null hypothesis gets rejected by the test.
Beta value denotes the power of the test.

To test the significance of the goodness of fit of a distribution, F-test is
applied.

When H,, : pp s > up, two-tailed test is applied for testing the hypothesis.

The critical value of Z-statistic for two-tailed test at 5% level of significance
is 1-96.

IandV

IT and III

IIT and IV

IVand V

Question Number : 96 Question Id : 91394318728 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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afEweat % glta 3 gag § feafafas 8 @ F19-8 Fu= w8 § 7 968 32 51 =391 i |
FUql: o T GRI 9 Y UREHeA 1| o et @ 9t eRu-I A e At 2 )

Fog Il At od e i viie At oguiar ? |

w11 - Tt e R ot & e < S % forg we-wheror form ST 2 )
FAVI: T4 Hy o p e > pe B, @ aiewesn & vl 3 f3-g=dim v fem s 2 )
FTV: A5 P 5% W R f3-q=oha v gg Z-wifeasht st wif=as 953 196 7 |

%
Options :

91394273581. 1RV

91394273582, Rt

91394373583. L MR 1V

91394273584. vy

Question Number : 97 Question Id : 91394318729 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The following statements relate to sampling distributions. Choose the correct code for the
statements being correct or incorrect.

Statement I : Sampling distribution of mean is normally distributed irrespective of the type
of population distribution and size of samples,

Statement II : The standard deviation of the sampling distribution of mean is less than the
standard deviation of the population distribution.

Code:

Options :

Statement I is correct, but II is incorrect.
9139437 3585.

Statement II is correct, but I is incorrect.
9139437 3586.

91394373587 Both the statements I and II are correct.

91394373588 Both the statements I and II are incorrect.

Question Number : 97 Question Id : 91394318729 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Frefafas Foum wfeefl e @ waft § | Foml & adt 91 7w 99 % gl § wdt 5 o = v |
g7l - At faawor % woer ot ufegst % e @ Frder aren w1 wfaeslt sew o e B
?1

FoT 71 - el & gleafi |97 = A fieen e e s ars Reea da s g 2 )

C %

Options :

U 19t 8, wg 11 7T 2 |
91394373585.

YT 119 ], 9g 1 TTeid 8 |
91394373586

$Y9 1 3 11
91394373587 WA

$Y9 1 3T 11 4t Tad
91394373583. 3 g

Question Number : 98 Question Id : 91394318730 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Suppose, it is calculated that ‘a’ is 4 and ‘b’ is 2 for a particular estimating line with one
independent variable. If the independent variable has a value of 5, what value should be
expected for the dependent variable ?

Options :

91394373589.

91394373590. il

91394373591. 14

91394373592, 22

Question Number : 98 Question Id : 91394318730 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

U T O w99 X 91 O At yeeremei s g e e e’ a2 e b’ 2R |
afe Taa = 1 0 5§ a1 Fl =t e s gm 2

Options :

91394373589.

91394373590. 11
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91394373591. =

91394373592, 22

Question Number : 99 Question Id : 91394318731 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The following two statements relate to probability distributions. Choose the correct code for
the statements being correct or incorrect.

Statement I : When ‘p’ and ‘q’” are equal in the binomial distribution, the shape of the
distribution is perfectly symmetrical irrespective of the size of ‘n’.

Statement IT : The mean and the variance of Poisson distribution are not equal.

Code:
Options :

Statement I is correct, but II is incorrect.
91394373593,

Statement II is correct, but I is incorrect.
91394373594,

91394373595, Both the statements I and 11 are correct.

91394373596, Both the statements I and II are incorrect.

Question Number : 99 Question Id : 91394318731 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A wrean fareont | weftrg < o fau T | el % wdt W Tea 9 % wed # wdt B v

i |

gl v gl faam § ¢ oft g wum & 9 v’ % IR % Py e i sner polen
i 3 |

FuT 1l ATl faaor 3 Amea ok s aue A e E

C %

Options :

YT 1 9t 8, Wg 11 7Tid 2 |
91394373593

FYF I T B, g 1T 2 |
91394373594,

$Yq 1 3l 11
91394373595 A
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$Y9 1 3T 11 &9t Tad
91394373596, 3 g

Question Number : 100 Question Id ;: 91394318732 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ;
Which one of the following does not fall within the ambit of WTO operations ?

Options :

Trade in service, intellectual pro rotection, multifibre agreement.
91394373597, RIORersy &

Supplementing balance of trade deficit and helping a nation to overcome balance of

ayment crisis.
91394373598, B

Redressal and settlement of tariff disputes.
91394373599.

Antidumping measures, industrial and export subsidies of trading nations.
91394373600,

Question Number : 100 Question Id : 91394318732 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fFreferfias #§ & = fava samr drea (Sseg A.91.) & Bramrardl Rl § 78F oman 2
Options :

qa1 ¥ SR, diigsh aeae TTE, AedthRat ausidn
91394373597. A '

91394373508 SR 91 1 LRI AR Gt Th 39 i Aoy Wora™ Feve @ IWRA 3 wErr T |

syreeh feramat 1 faamor qon fgem |
91394373599,

91394373600. SR H ot < < -t 390, et v Fata wemer |

Question Number : 101 Question Id : 91394318733 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match the items of List I with the items of List IT and choose the correct answer from the

code given below.
List 1 List IT
(a) Floating forex rate (i) Get the best out of extreme
decentralisation and centralisation
in finance decision and execution
(b) Translation effect of (i) Influences time lag in receipt of cash
change in forex rate against foreign currency
denominated invoices
(¢) Transaction effect of (iii) Influences the valuation of financial
fluctuation in forex rate statements and reported items
(d) Geocentric solution in (iv) Triggers problems of appreciation or
financial planning and control depreciation of currencies
Code:
Options :
a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
91394373601, (a)—(iv), (b)—(iii), (e)—(ii), (d)—(
a)—(iv), (b)—(ii), (¢)—(iii), (d)—(1)
91394373602 (a)—(iv), (b)—(ii), (e)—(iii), (d)—(
a)-(iii), (b)—(1), (e)—(ii), (d)—(iv)
S5 SRR (a)iii), (b)—(1), (e)—(ii), (d)~(
a)-(i), (b)—(iv), (e)—(ii), (d)—(iii)
91394373604 (a)(1), (b)—(iv), (e)—(ii), (d)—~(
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Question Number : 101 Question Id ;: 91394318733 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

gt 1t wel 1 gt 11 R A | e hife @il = i3 T e 9 @ @& st 9 |

g I et I
(a) voaq faesft g @ (1) = Tr=iTeRtor Tt et R
ferefta fofar ok Frourga 4 wedsss
e
(b) Rt A sRadH ) Rl g geat des % 9ga Ues
sfea wTE wifte # aeETa st wwfad Xt 2
() Torcst o1 X A SRS I (i) Tafta Taamor gt wiedfea wei &
-3 T eI i TG e
(d) forefrr s o Preor | (iv) R 5 sl san oasm
A FHIYH AT 39T FHT 3
<
Options :

91394373601.

91394373602,

(a)-(iv), (b)-iid), (e)-(ii), (d)—(i)

(a)—(iv), (b)—(ii), (c)-(iii), (d)—(D)
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91394373603, 24 (-0, (©)-(iD), ()~iv)

Question Number : 102 Question Id ;: 91394318734 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The World Investment Report has prepared a transnationality index
comprising average of three ratios based on foreign assets, foreign
sales, foreign employment.

Reason (R): Given the increasing liberal investment and environment policy in which
such companies operate, transnationality would enhance strategy for
greater penetration.

Code:
Options :

Both (A) and (R) are correct and (R) is the right explanation of (A).
91394373605,

Both (A) and (R) are correct, but (R) is not the right explanation of (A).
91394373608, (&) and (R) ( Fighl axp (A)

(A) is correct, but (R) is incorrect.
91394373607,

Both (A) and (R) are incorrect.
91394373608,

Question Number : 102 Question Id : 91394318734 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

= 3 o Ry T E, fomit @ o aifierem (A) R ofR g ok (R) % | et Bt ol ofi AR Ry g

e I SN BTG I A |

iy (4) ; Tava fay e 3 v ararsdiaar e T foen g, o fadeh onfermt, faceh
fasht, fgaft A9 & smar W fim et = oftaa e R |

Fh(R):  SoR qidl w1 W@ FEaw o i fife S ma g, w3 it ek, weasdaa

@ it Sigr ¥g AR A wgran frem |
C %
Options :
91394373605, 3R (R) A Wl & 741 (R), (A) i 7t =men 2 |

(A) 3R (R) gH1 Tt 8, g (R), (A) i Tt sorem 76 |
91294=273c0%.
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A) ) R)Tcd = |
912394273607, (BT, T R !

91394373608. AL Ry i Wi |

Question Number : 103 Question Id : 91394318735 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The following statements relate to transnationality. Choose the correct code for the
statements being correct or incorrect.

Statement I : The UNCTAD developed an index to compare the transnationality of
countries in which TNCs operate.

Statement II : The UNCTAD followed parameters like FDI flow as a percentage of gross
fixed capital formation, FDI inward stock, value added by foreign
affiliates and jobs created by them.

Code:
Options :

Statement I is correct, but II is incorrect.
913943736089,

Statement II is correct, but I is incorrect.
91394373610.

91394373611, Both the statements I and II are correct.

91394373612 Both the statements I and II are incorrect.

Question Number : 103 Question Id : 91394318735 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Freafafa St 1 gag adiadr & ] | FoA1 % W& 91 T9d B4 5 G § Tl Fe 1 =97 hif |
FYT1 : gmiwmamﬁmawwmma,wa.mmm
1

o [] ; AFTS A goha Fife Gt Fmfor & sfaea % TR W 6.8 1. W6 R, 16,35, e
wis, faeeht arag gr aftia yea oo 559 g give Ioe S wrgust it s |

C %
Options :
YT 19t 8, Tg 11 TTid 2 |
91394373609.
YT I 9 ], 9g 1 Teid & |

91394373610.
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F9q 1 3l 11
91394373611, AT

$Y9 1 3 11 <t Tad
91394373612, 3 g

Question Number : 104 Question Id ;: 91394318736 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

The following statements relate to Restrictive Trade Practices (RTP). Choose the correct code
for the statements being correct or incorrect.

Statement I : Often the low price is the result of the predatory pricing strategy; prompting
selling at prices below cost.

Statement II : This is done with an aim to drive out existing competitors because predatory
pricing is a restrictive trade practice.

Code:
Options :

Statement I is correct, but II is incorrect.
91394373613.

Statement II is correct, but I is incorrect.
91394373614.

91394373615, Both the statements I and II are correct.

91394373616, Both the statements I and II are incorrect.

Question Number : 104 Question Id ;: 91394318736 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation ; Vertical

Correct Marks : 2 Wrong Marks : (0

FreafaRas st 5t w9y Py SR Brasadt ((RAM AR 1T ST WA 21 5

ae o TEl g2 = hif |
Fy7]: WEA: FA qed, R gea Refon ot s aiom g 2, fed a3 9 w0 e w
fsh #t fam e wsa 2
o 17 - T yfagfeat it T F& 5 g |} Yo frn s @ wife Sl e fufon
FrigTeres samIR fRaTRee § |
C &
Options :
91394373613 LI, e TAR 2 |
HYT IR 3, 9o 1 T 2 |

91394373614,
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F9q 1 3l 11
91394373615. AT

$Y9 1 3 11 <t Tad
91394373616, 3 g

Question Number : 105 Question Id ;: 91394318737 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Cultural differences, behavioural attitude of workers, social environment,
values and beliefs affect industrial relations and loyalty.

Reason (R): Differences relating to labour mobility and cultural influences affect the way
of addressing the superior authority.

Code:
Options :

Both (A) and (R) are correct and (R) is the right explanation of (A).
91394373617,

Both (A) and (R) are correct, but (R) is not the right explanation of (A).
913943736183,

(A) is correct, but (R) is incorrect.
91394373619,

Both (A) and (R) are incorrect.
91394373620,

Question Nuinber : 105 Question Id : 91394318737 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
=t o fou e §, ot & o e (A) R oft g0 9 (R) 7 | Fml 9t e oft = fig e
e I TN B TG I A |

ArFYT (A) ;: VIEPlash HIUG, FINTRI I SATTR, ATHTRH TG0, Y4 T gRomd, sftenfirs
Tl Ta feaT T SwTiad @ R |

FH (R : a0 niefiaa wardi g w@ aiesios e It % e % aies w
i e ¥ |

Re:
Options :

a4t Sl
91394373617 (A) 3T (R) TF TEl & T (R), (A) 1 &l 2l

(A) 3R (R) gFt Tt 8, g (R), (A) i ot sorem 76 2 |
91294=273¢c1E.
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A) ) R)Tcd = |
913942736183, BT, T B !

91394373620. AL Ry i Wi |

Question Number : 106 Question Id : 91394318738 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Growing proportion of the world output is traded internationally, causing
faster growth of trade among nations.

Reason (R): This situation is bringing world economic integration, which is reinforced by
cross-border capital flows and regional blocs.

Code:
Options :

Both (A) and (R) are correct and (R) is the right explanation of (A).
91394373621,

Both (A) and (R) are correct, but (R) is not the right explanation of (A).
91394373622,

(A) is correct, but (R) is incorrect.
91394373623,

Both (A) and (R) are incorrect.
91394373624,

Question Number : 106 Question Id : 91394318738 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
= 2t o feg T &, il @ o aifiehem (A) R ofR gm ok (R) % | et Bt ol ofi AR Ry g
e I SN H TG T A |
3firpy (A) - Tava IeurER % wgd o i ey a7t R red i % o s § st
g @
aF (R) : 77 Teufa Tava =1 snfeles wohisRonr o @ 2, et dhn-ar 35t yarg ua &6 ot
FRECRECRG RS

®e:
Options :

A) 3R Tl (R), (A) *h & sgqrean
91304373621, (R) 3F1 7t & 74T (R), (A) it &l 21

(A) 3R (R) gt 9t 2, g (R), (A) i &t =aven 76 2 |
912394373622,
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A) ) R)Tcd = |
91394273623. BT, T B !

91394373624. AL Ry i Wi |

Question Number : 107 Question Id : 91394318739 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The following two statements relate to industrial sickness. Choose the correct code for the

statements being correct or incorrect.

Statement I : The Sick Industrial Companies Act (SICA) was enacted to address a chronic
problem of industrial sickness in the Indian economy.

Statement II : SICA defined a sick industrial unit as one that had existed for at least three

years and had incurred accumulated losses equal to its entire net worth at the
end of any financial year.

Code:
Options :

Statement I is correct, but II is incorrect.
91394373625,

Statement II is correct, but I is incorrect.
91394373626.

91394373657, Both the statements I and II are correct.

91394373628, Both the statements I and II are incorrect.

Question Number : 107 Question Id : 91394318739 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Freffad @ o= S ToraT & @ag 9 8 | 91 % T8 91 70 B 5 9eM | Fal F¢ H =4
$ifsrg |
w7l w0 i wo afuftem (vg.end e, ) = sifufemm il sefsraea § sinifies
Tworat =ht Fereureft g = g e % fere femem e un |

Fyll: IR 7 w0 SR TR w U EE % w9 H afonfie e 2 @ d et @
forerm oft it fomm forelt oy 9 % ota o 219 Al e e < wOer wixa 71 3818

ot |
C %
Options :
YT 1 9t 8, wg 11 Teid 2 |
91394373625,
Y 11 & 8, 9g 177 R |

91394273626,
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F9q 1 3l 11
91394373627 AT

$Y9 1 3 11 <t Tad
91394373623. 3 g

Question Number : 108 Question Id ;: 91394318740 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : I1dentification and detection of sickness at incipient stage is the first and
foremost measure to reduce industrial sickness.

Reason (R): Sickness in small scale industries is not a sudden phenomenon but it is a
gradual process taking 5 to 7 years eroding the health of a unit beyond cure.

Code:
Options :

Both (A) and (R) are correct and (R) is the right explanation of (A).
913943736289,

Both (A) and (R) are correct, but (R) is not the right explanation of (A).
91394373630,

(A) is correct, but (R) is incorrect.
91394373631,

Both (A) and (R) are incorrect.
91394373632,

Question Nuinber : 108 Question Id : 91394318740 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

= &t o feg T &, il @ o e (A) R ofR g ok (R) % | et Bt o ofi AR R g

e 1 TN L TR IAL AT |
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% (R) : Y T A WA SR Aol At g A% T e sk g St R g % waree
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Re:
Options :

a4t Sl
91394373629, (A) 3T (R) TF TEl & T (R), (A) 1 &l 2l

(A) 3R (R) gFt Tt 8, g (R), (A) i ot sorem 76 2 |
91294273620,
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A) ) R)Tcd = |
91394273621, BT, T B !

A) IR (R Ted
91394373632, (&) 3T (B) < gl

Question Number : 109 Question Id : 91394318741 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who among the following propounded ERG Theory of Motivation ?

Options :

91394373633, MeClelland

91394373634, SKnner

91394373635.

91394373636, ‘derfer

Question Number : 109 Question Id ;: 91394318741 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ;

frefafaa § 9 foras srfiton & 3.3 Sh. fagra o1 wiearga feram o 2
Options :

91394273633,

91394273624.

91394373635.

91394373636.

Question Number : 110 Question Id : 91394318742 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Entrepreneurial innovation and experimentation constantly destroy the old
and introduce new equilibria, making possible higher standards of living.

Reason (R):  Markets do not passively tend towards equilibrium until profit margins are
wiped out.

Code:
Options :

Both (A) and (R) are correct and (R) is the right explanation of (A).
91394373637,

Both (A) and (R) are correct, but (R) is not the right explanation of (A).
91394373638, ) (R) ( rg p (A)

(A) is correct, but (R) is incorrect.
91394373639,

Both (A) and (R) are incorrect.
91394373640,

Question Number : 110 Question Id : 91394318742 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

= 2 o Ry T E, foit @ o e (A) R ofR gEm ok (R) ® | et Bt o ofi AR Ry g

e 1 TN L GE AL AT |

A (A) - FARET TR 3R T Pt @ W e T § 991 U T gn < YR S
2 I I=aL e T H GYE T R |

a% (R) : S| G AW it GHICd T8I B S SR anar i iR P w9 3 vaw 71 g )

%
Options :

A) 3R (R TAUT (R), (A) ht T&t sqrsat
91394373637, (R) 3! W&t & 741 (R), (A) Ft & 2

(A) 3R (R) gt 98t 2, 95g (R), (A) i &t =aren 76 2 |
91394373638,

A) y (R)Tdd = |
91394373639. { Hﬁi%tﬂv‘-@ !

91394373640. (A 3R () R e €

Question Number : 111 Question Id : 91394318743 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match the items of List I with the items of List IT and choose the correct answer from the

code given below.
List I List II
(a) Fabian Entrepreneurs (i) Industry leaders
(b) Drone Entrepreneurs (ii) Found in the places where there is a lack of resources

(¢) Imitating Entrepreneurs (iii) Reluctant to change

(d) Innovative Entrepreneurs (iv) Skeptical about the changes to be made in the
organization

Code:
Options :

Sigaasragay WU G-l {0

—— LR R R

grsgas7agy -, (e-v), (d)-(iD

Question Number : 111 Question Id ;: 91394318743 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

et 1<t wel v gt 11 R udt & Frem i ofit = fgg T g 3 @ wd s gita |

gt I gt I
(a) g (Ghe) saft () g
(b) g et (i) TR T W IR S 2 st geneEl B ol g R
(¢) STgHCuft Jerdt (iii) fEds % gfa =g
(d) =t et (iv) "ea o fEds A & gfa avifea
B
Options :
mm (a)—(iv), (b)iii), (e)—(ii), (d)—(1)

91394373643, - (B-(), (-i¥), (d)-)

grsgas7agy -, (e-v), (d)-(iD

Question Number : 112 Question Id : 91394318744 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Who among the following are associated with the concept of “Entrepreneurship” ?
(i) Richard Cantillon

(ii) Lionel Robbins

(iii) Adam Smith

(iv) Jean-Baptiste Say
(v) Joseph Schumpeter

Choose the correct answer from the code given below :

Code:
Options :

——
91394373645, (0 (i) s v

ii), (iii), (iv) and (v
91394373646, W, ), e e

— d
91394373647, 18], by b

ey d
91394373643, @, (1), (i) and (v)

Question Number : 112 Question Id : 91394318744 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
frefafaa # & fre waa “Safm” i smarm @ 3 2
(i) f=d Hatr
(i) Tt dfema
(iii) T o
(iv) W-aufe @

(v) e gefiet
Frer e e e # | T W = g
B

Options :

51304373845, 0 A0 6D X ()

(i), (i), (iv) 3T (v)
91394373646,

91394373647, ®, (i), (v) 3R (v)

91394373643, ®, @), () 3R ()



www.prepp.in .repp

Your Personal Exams Guide

Question Numnber : 113 Question Id : 91394318745 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Choose the correct code for the following statements being correct or incorrect.

Statement I : An Intrapreneur is a person within a large corporation who takes direct
responsibility for turning an idea into a profitable finished product
through assertive risk-taking and innovation.

Statement Il : Intrapreneurship refers to employee initiatives in organizations to undertake
something new, without being asked to do so.

Code:
Options :

Statement I is correct, but II is incorrect.
913943736489.

Statement II is correct, but I is incorrect.
91394373650,

91394373651 Both the statements I and II are correct.

91394373652 Both the statements I and II are incorrect.

Question Number : 113 Question Id : 91394318745 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fefafad et & @& 91 Tad g % T 7 T8 i 59 hif |
Fy71: U a2 o 1 ar=a: et 98 suft S & S Frsarers 9 & St St aun 9=y =
o TR Fl AIE GOR 379G o ©9 H 9gaq o diYT SUEiied aaT § |
e 1] : 0SB 3 e & i forn e $o T % gag ® HHErd grn i 7S gget 9

4
B

Options :

U 19t 8, wg 11 7T 2 |
913943736489,

F97 11 T & ITed 2 |
91394373650, » 74

$9q 1 3t 11
91394373651 WD

$Y 1 3t 11 24t T
91394373652, i g

Question Number : 114 Question Id : 91394318746 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Archie Carroll’s model speaks of an organisation’s four most basic forms of
responsibility in order of priority.

Reason (R):  Economic, legal, ethical, philanthropic responsibilities and their compliance
increases brand value and furthers the profit.

Code:
Options :

Both (A) and (R) are correct and (R) is the right explanation of (A).
91394373653,

Both (A) and (R) are correct, but (R) is not the right explanation of (A).
91394373654, ) (R) ( rg p (A)

(A) is correct, but (R) is incorrect.
91394373655,

Both (A) and (R) are incorrect.
91394373656,

Question Number : 114 Question Id : 91394318746 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
= qt oy fGg 7 g, i @ T A (A) B 3 8T @ (R) § | oAl =t gy 3R = fgg e
g2 I T L T IW g |
AIFYT (A) : ATl HAA Fl WIS Th TS o 9R T4 ATYRYT T & Iaxgiaeal o TeiHsmar
FFAFTR T TR |
% (R) : anifefes, Hrt, fifora, deprasrt giea 2 I SITe A1V qed 3R A% Ferat
8

%2 :
Options :

A) 3R Tl (R), (A) *h & sgqrean
91394373653, (R) 3F1 7t & 741 (R), (A) it &l 21

(A) 3 (R) 31 T8t €, T (R), (A) it Wl =amean e 8 |
91394373654,

A) A R)Tcd = |
91394273655, BT, LR !

91394373656. (AR o T |

Question Number : 115 Question Id ; 91394318747 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

Which one of the following is not a norm of corporate governance ?
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Options :

91394373657, udit Committee

Woman independent director
91394373658,

Disclosure norms of Earning per share
91394373659,

Clause 49 of Listing agreement
91394373660.

Question Number : 115 Question Id : 91394318747 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frefafias # @ ta-ar Fanfia g = vt 0 9 a8t 2 2
Options :

91394273657. s

wad ufgen P

91394373653.

913943736589. S S48 T

G UL 1 FAlS 49
91394373660.

Question Number : 116 Question Id : 91394318748 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match the items of List I with the items of List IT and choose the correct answer from the

code given below.
List 1 List II
(a) Cadbury Committee (i) SEBI regulation
(b) Clause 49 of listing agreement (ii) Code of best practices
(¢) Minimum number of (iii) Ethics
specified board meetings a year
(d) Whistle blowing (iv) Companies Act, 2013
Code:
Options :

91394373661, (a)—(i), (b)—(ii), (e)-(iii), (d)—(iv)

—— e e et
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91294=736E3.

91394373664,

(a)—(i), (b)), (c)iil), (d)(iv)

(a)-(iv), (b)-{iid), (e)-(ii), (d)—(i)

prepp
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Question Number : 116 Question Id ;: 91394318748 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

et 1R wgt o =t 11 o & e fifvg ok e g T ge 3§ @ a6 s g |

et I —
(a) Fead whifa @ R
(b) FEHAT FAR Fl FAS 49 i) e vgh B
(¢) a9 % fafafdee i St o g e (i) JER-gk
(d) T (<K i) (iv) Foft arferfem, 2013
C &
Options :
sisgisyaggy W -, (o (i), (d)-iv)
1294373650 -, (-0, (-(iv), (D-GiD)
91394373663, (a)-(ii), (b)—(1), (e)(iii), (d)—(iv)
91394373664, (a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)

Question Number : 117 Question Id : 91394318749 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) :

Reason (R) :

Code:

Options :

91394373665,

91394373666.

The United Nations’ Inter-governmental Panel on Climate Change has

concluded that there is a discernible human influence on the global climate.

The United Nations’ Groups conclusions are unformed; some experts differ
and say that a reliable estimate of the human imprint’s magnitude
remains a distance off.

Both (A) and (R) are correct and (R) is the right explanation of (A).

Both (A) and (R) are correct, but (R) is not the right explanation of (A).
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(A) is correct, but (R) is incorrect.
91394373667,

Both (A) and (R) are incorrect.
91394373668,

Question Number : 117 Question Id : 91394318749 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

= 2t o feg T &, il @ o aifiehem (A) R ofR gm ok (R) % | et Bt ol ofi AR Ry g

e I SN H TG T A |

YT (4) ; T TS 3 I Sioary ot - vma=hi et 3 78 Fresnd Frspren 2 55 3t
AT W TS WAG T4 R |

ah(R): W TS % TWRI oh (1o Agl ©; TS (e I Hadg W@ @ I Fed § 1 A
YHTE < TR < favaaeta srawe @ g S TR |

®e:
Options :

$I Gl ST
91394373665. (4) 3T (R) TF1 TEl & T (R), (A) 1 =l 2l

(A) 3R (R) gH1 981 2, T4 (R), (A) I T&t =4me T4 ¢ |
91394373666,

A) ) R)Tcd = |
91394273667, WY, TR g

91394373668. CAY ARy <F Tt

Question Number : 118 Question Id ;: 91394318750 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ;

The following statements relate to value based organisations. Choose the correct code for the
statements being correct or incorrect.

Statement I : People differ in their choice of values, the enforcement of one group’s value
on an individual is an ethical issue. Still there is a good deal of commonality
in the values that businesses hold.

Statement I : Ethical codes are statements of the norms and beliefs of an organisation
which are proposed, discussed and defined by the management of the firm
which is then published and distributed.

Code:
Options :

Statement I is correct, but II is incorrect.
91394373669,

Statement II is correct, but I is incorrect.
91394373670,
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91394373671 Both the statements I and II are correct.

91394373672 Both the statements I and II are incorrect.

Question Number : 118 Question Id : 91394318750 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

FrfaRaa o qea snaia weAt @ wraf=m § | FuEl & 98t I Tad 34 F wed 4 98 T H 9

I |

o [ : QI T THG HAHT-3AT gl o TRl Tog & qed i Fordl =i W g o Aifowss
fore @ | 3 A SA9Er™ % qTal # FIA 7G99 GHMHE Bl @ |

e 11 ; Sifaaten g2 et gmea o wreht 2R aronst & 3 Sy 2 St foeedt v % wega g et
sf¥a it afonfa fre o § ot yeifie o fyafa g mo § |

C %

Options :

YT 1 9t 8, Tg 11 7T 2 |
91394373669

HYT LI T ], 7g 1 Teid 8 |
91394373670.

F9q 1 3l 11
91394373671 A

Fu 1 3f 11 2t TTed
91394373672, a i

Question Number : 119 Question Id : 91394318751 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The stakeholder model can be used as a tool for managers, who are asked to
handle the stakeholders relations as a guide to achieve ultimate goals.

Reason (R): Corporation is an economic institution which has a social service aswellas a
profit making function while shareholder control is similar to
Adam Smith’s ‘invisible hand’ argument.

Code:
Options :

Both (A) and (R) are correct and (R) is the right explanation of (A).
91394373673,

Both (A) and (R) are correct, but (R) is not the right explanation of (A).
91394373674,
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(A) is correct, but (R) is incorrect.
91394373675,

Both (A) and (R) are incorrect.
91394373676,

Question Number : 119 Question Id : 91394318751 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

= gt oA Qg e 8, o @ u iy (A) & 3R @0 7 (R) 2 | Al it ufee ot A= feg o
% T TANT L T I AT |
SFIFYT (A) : Rohaleet Hisd S IFNT T8 Tagwl % o o @y & w9 7 forn sn a6t & B
Jifem At HE WCT FA ¥ T AAIGHH b TG H RBINHI b Gadl H AT
<t gl T AT R |
T (R) : g e snrfHe weum @ Tl wrnfres dan 3t i T <191 i gid & Sl

Trgiest e Uen o & ‘sgmE el ST SauA R |

Re:
Options :

A) 3 (R Tt (R), (A) *h & sgarean
91394373673, (R) TH1 @t € 94T (R), (A) 7@ 21

(A) 3R (R) 1 9&t 2, g (R), (A) i & =areT 741 2 |
91394373674,

A) 3 R)Tdd = |
913894373675. W - A

91394373676, (AR SHI Teid o

Question Numnber : 120 Question Id : 91394318752 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The following statements relate to value based organisations. Choose the correct code for the
statements being correct or incorrect.

Statement I : Nature of a corporation has been analysed by theorists as private rights
theory, social institution theory, contractual theory of the firm.

Statement IT : Nature of the corporation has been explained by input-output model under
stakeholder theory; each stakeholder group constituency is integral to
the operation of a corporation.

Code:

Options :

Statement I is correct, but II is incorrect.
91394373677.

Statement II is correct, but I is incorrect.
91394373678,
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91394373679, Both the statements I and II are correct.

91394373630, Both the statements I and II are incorrect.

Question Number : 120 Question Id : 91394318752 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A= Fom e & weg # § Fum R e 1wt & wd 1 ve g9 S wed # wdt w5 1w A
o 1 Tommeat gra fomm <t sl st fergeron fsft saferenrtt o Rrgiar, armfore avam fagia, v 5
wferereas foagra % w9 § foran smaT 2 )

FoT 11 - CHeest fagia % sraifa o i wofa A smra-Frfa wisa % w9 & aftfe fem mn 2,
Telieh Wehateet avg & FIm & yere &1 afdm s 2

C T4

Options :

Y 19t 8, Tg 11 Teid 2 |
91394373677.

F9a 1198t 2 ITed B |
91394273678, » 74

$Y9 1 3 11
91394373679, A |

$Y9 1 3T 11 <49t Tad
91394373680. 3 g

Question Number : 121 Question Id : 91394318753 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Who among the following was the first one to use the term ‘Collective Bargaining’ ?

Options :

91394373651, O-D-H. Cole

91394373682, - Hoxie

91394373633, Deatrice Webb

91394373654, ¥l Marx

Question Number : 121 Question Id ;: 91394318753 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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anyfye digarslt’ weg 1 Ivan wayyw FeafaRas d @ e R a1 2
Options :

. .w=, S|
913943736831

ARTE, giad
91394373682, o

91394373683. e

91394273684. Y

Question Number : 122 Question Id ;: 91394318754 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
‘Sons of the soil’ policy is associated with

Options :

Discharge or Dismissal
91394373685,

91394373686, I romotion

91394373687, Lecruitment

91394373638, duction

Question Number : 122 Question Id ;: 91394318754 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ;

Fa e & wiae’ Hfifa FrafaRae 4 & fead gaftm 2 2
Options :

FRYE A T@ieat
91394373685.

LHE G

91394373686,

91394373657. el

Yo (FTSHH)
91394373638,
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Question Nuinber : 123 Question Id : 91394318755 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match the items of List I with the items of List IT and choose the correct answer from the

code given below.
List 1 List I1
(a) Career (i) Sequence of work experiences that gives

opportunity to participate in many aspects
of professional area

(b) Career planning (ii) Determining career goals and identifying
means to achieve

(¢) Career path (iii) Person’s course or progress in a particular
area of work

(d) Career anchors (iv) Perceived areas of competence, motives
and values relating to professional work
choices

Code:
Options :

sisgEs7angy - wib =), (-, (d)-{iv)

91394373691. (a)-(ii), (b)—(1), (e)-(id), (d)—(iv)

91394373692 (a)(iv), (b)—(1), (e)—(ii), (d)—(iii)

Question Number : 123 Question Id : 91394318755 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

et 1t wel o w11 R we & Prem i ofi = fjg T e # @ wdt s gt |

qr 1 et 11
(a) HRE () Hrl IEEl B JE S SR 3 F 6
qggelt & W oR W R I §
(b) HIER IASAT (i) HER dgat w1 i St 2 i 32 Icg +E &
g Y 989 Hd B

(¢) i Anf (i) e % &7 e & safe o anf @ wfy
(d) FfER o (iv) <aaaie st fawedt d gafta g, 'l ok
Tl o Gehleud &
e :
Options :

913943736389. (a)-(ii), (b)—(iv), (e)-(i), (d)—(ii)
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1354373600 2 s (D)D), (-0, (d)-(iv)

sisedssaEgy Wl (b, (-, (d-lv)

91394373692 (a)(iv), (b)—(1), (e)—(ii), (d)—(iii)

Question Number : 124 Question Id ;: 91394318756 Question Type : MCQ Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Choose the correct code for the following statements being correct or incorrect.

Statement I : Fringe benefits mean anything that includes employees’ family, that has high
social and peer recognition. They include health, security and retirement
benefits offered to full-time employees.

Statement Il : Fringe benefits aim at increasing economic security of employees and are
always non-taxable in nature.

Code:
Options :

Statement I is correct, but II is incorrect.
91394373693,

Statement II is correct, but I is incorrect.
91394373694,

91394373695, Both the statements I and II are correct.

91394373696, Both the statements I and II are incorrect.

Question Number : 124 Question Id ;: 91394318756 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Frefafas et & @ @ Taa 3R % g 1 A6 g F 5 Hifg )
o] S feaeny 1 o v ey & ? Fremt =it < afer wite 2, o s g
T aREl | AT ISd B | I QUiehiicreh sheeical ol fGU 7T wareed, guan 3

Tarfrgfe feaeny e € 1
Fug Il : e Teqam s wewiEl B e gan # wgm g ® a3 ade e
T FHE € |
C %
Options :
Srsasysey TN q, g 117 R |
Y 11 9 8, 96 1 7o R |

91394373694,
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F9q 1 3l 11
91394373695 AT

$Y9 1 3 11 <t Tad
91394373696, 3 g

Question Number : 125 Question Id ;: 91394318757 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Which of the following is the reference of dispute to an agreed third party for settlement,
without the force of litigation or resort to law ?

(i) Conciliation

(ii) Arbitration

(iii) Adjudication

Choose the correct answer from the code given below :

Code:

Options :

Only (i)
91394373697,

Only (ii)
913943736983.

91394373699, Dot (D and (i

Both (i) and (ii)
91394373700.

Question Number : 125 Question Id : 91394318757 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

RIS 1 H 1 e fe fom, smmoeh weafy @ fiat va it Praer 3 foe R di 2

frefefias 4 3 = weamar 2 2
(i) auTnYs
(ii) werTeran
(iii) @rfafoia
Frer e e e # | T W = g
C T4
Options :
Had (i)
91394373697,
Hae (ii)

913943736983.
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91394373699, R i) ¥

91394373700, 3R () ¥

Question Number : 126 Question Id : 91394318758 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Which among the following is not a correct statement ?

Options :

There is a potential und for perceived conflict to turn into reality.
91394373701. =" e £ v

In latent conflict, although the parties to the conflict realise the fact of conflict for various

reasons but they do not show it openly.
91394373702,

Manifest conflict is always documented.
91394373703,

Manifest conflict in an open conflict.
91394373704,

Question Number : 126 Question Id : 91394318758 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frefafaa 4 @ w-a1 w97 o 8@ 2 2
Options :

Gehfeqd YUY I ATedfas o S AMIRG SR R |
91394373701

HertEra end | Fud % 9y faii ol @ g9 s 92 Bl I 91 2 Wy I 54w €9 9 qid T 2
91394373702.

0130437370z TG Qo Hod e T < |

gitcfEa auy s god
91394373704, g

Question Number : 127 Question Id : 91394318759 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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In the context of industrial relations, match the items of List I with the items of List II and
choose the correct answer from the code given below.
List 1 List IT
(a) Conflict between managers and (i) Psychological approach
workers is normal and inescapable

(b) Both management and workers see (ii) Pluralistic approach
each other as less reliable

(¢) There is a power relationship (iii) Marxist approach
between the two classes

Code:
Options :

ey TR el

qygemererar T (OHED

SRS (a)—(ii), (b)—(iii), (c)—(i)

91394373708 (a)-(iii), (b)—(ii), (e)(i)

Question Number : 127 Question Id : 91394318759 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

afteifires Trasdt % wol A, =t 1R ot 1 =i 11 A vl @ e A s fR R s g @
agt I g |

gt 1 g 11
(a) YaEYUHI T FIOTR % &9 o9 e (1) wEIETes 3

3kt srafer

(b) =Y TYT HIATR Th-gEL Hl F4 (i) WA} YU
fovaedia amd &

(¢) Tt Ml & o9 uw vifvs qay 3 (ifi) HrdaTEl 39T
6
Options :

91394373705, b (b=, (e-{iiD)

e e, (a)—(1), (b)—(ii), (¢)—(iii)

91394373707 U, (0)-(i), (-1

—— (a)—(iii), (b)—(ii), (c)—(i)
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Question Nuinber : 128 Question Id : 91394318760 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The following statements relate to value based organisations. Choose the correct code for the

statements being correct or incorrect.

Statement I : The goal of any sales promotion is to create value for both the consumer and
the firm.

Statement Il : Sales promotion always shifts sales from the future to now and thereby leads
to short-run benefits at the expense of long-term sales stability.

Code:

Options :

Statement I is correct, but II is incorrect.
91394373708,

Statement II is correct, but I is incorrect.
91394373710.
91394373711 Both the statements I and 11 are correct.
91394373712 Both the statements I and II are incorrect.

Question Number : 128 Question Id : 91394318760 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fr= feh gada @ qafta 3 Fum ST T 8 | oAt % wa T Ted g 5w 1 wE e H T
I |
woygl: Tl oft fochl daea o 98vT TTEe qun W, g o TS T B A HT |
FoT - oh wads ® wg € uiess % wm W adum Reh ) s R e feh i
EreiemTioren TeuRaT i e Fd U eIy | A0 BT R |

C %

Options :

YT 1 9t 8, Wg 11 7Tid 2 |
913943737089,

HY 1198 8, g 1 Tea 2 |
91394373710,

$YF 1 3T 11
91394373711 Y

$YF 1 3 11 2t T
91394373712, i g

Question Number : 129 Question Id : 91394318761 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Luxury brands command price premiums and do not have a strong lifestyle
component.

Reason (R): Luxury brands do not require any special considerations in how they are
sold.

Code:
Options :

Both (A) and (R) are correct and (R) is the right explanation of (A).
91394373713,

Both (A) and (R) are correct, but (R) is not the right explanation of (A).
91394373714, ) (R) ( rg p (A)

(A) is correct, but (R) is incorrect.
91394373715,

Both (A) and (R) are incorrect.
91394373716,

Question Number : 129 Question Id : 91394318761 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
= 2 o Ry T E, foit @ o e (A) R ofR gEm ok (R) ® | et Bt o ofi AR Ry g
e I SN B TqE I YA |
firpe (A) : Taenfargl srem *t ea e s 8 991 9 gog Fe-9elt & w9 76 7a |

% (R) : el wega % forg fereht fde oo o sravasan 7 Bt T 5% fopm woem S
ST |

%
Options :

A) (R Tt (R), (A) *h & sgqrean
91304373713 (R) 31 7t & 74T (R), (A) it &l 21

(A) 3R (R) gt 98t 2, 95g (R), (A) i &t =aren 76 2 |
91394373714,

A) y (R)Tdd = |
91394373715, { Hﬁi%tﬂv‘-@ !

91394373716, (A 3R () R e €

Question Number : 130 Question Id : 91394318762 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match the items of List I with the items of List IT and choose the correct answer from the

code given below.
List 1 List IT
(Macro strategies for (Specific strategy)
developing customer value)
(a) Customer excellence (i) Store on the corner of a
busy intersection
(b) Operational excellence (ii) Unique merchandise
(¢) Product excellence (iii) Strong relationships
with their suppliers
(d) Locational excellence (iv) Effective branding
Code:
Options :
a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
&SR AEA (a)(iv), (b)—iii), (e)—(ii), (d)—
a)—(iv), (b)—(ii), (e)—(1), (d)—(iii)
91394373718, i)y (by-Ai (oFD), (D
a)—(ii), (b)—(iv), (c)—(iii), (d)—(i)
91394373719, (a)—(ii), (b)—(iv), (e)-(iii), (d)—(
a)—(ii), (b)—(iii), (e)-(iv), (d)—(i)
e -, (a)—(ii), (b){iid), (e)—(iv), (d)—

Question Number : 130 Question Id : 91394318762 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

=t 1< et <t e 11 R et | Rrem Aiftg ot i fig T g 3 3 w8 s g |

gl I -
F&q W)
{a) T S () Pl s <k 9 R
(b) RS et (i) fafiree 3erg
(¢) IeTG Iepeeal (i) 39 HAfciFaiatt s AT Ao H=
(d) werfeh Icheea (iv) ot SRS
B
Options :
91394373717, (a)(iv), (b)—(iii), (e)(ii), (d)—(i)
argsagrarre | R

91394373719, (a)—(ii), (b)—(iv), (e)-(iii), (d)—(i)



www.prepp.in .repp

Your Personal Exams Guide

siggaargasy o (=) (g9, (-0

Question Numnber : 131 Question Id : 91394318763 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match the items of List I with the items of List IT and choose the correct answer from the
code given below. These items relate to BCG matrix.

List I List I1
(Names of the quadrant) (Action required)
(a) Dogs (1) Have excess resources that can be spun
off to those products that need it
(b) Question marks (ii) Require a heavy resource investment to
fuel their rapid growth
(¢) Cash cows (iii) Should be phased out unless they are

needed to complement the sales of
another product or for competitive

reasons
(d) Stars (iv) Require significant resources to maintain
and potentially increase their market
share
Code:
Options :
s i i
91394373721 ol (-0, ()-(iv), (D)
i b 111 L] d T
91394373700 (V) (B)-(i, (-0, (d)~(iD)
S -
91394373703, Ui (B)-(v), (=11, (d)-(i)
o s o
siEsErary T e

Question Nuinber : 131 Question Id : 91394318763 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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et 1wt =t gt 11 vt & P fiftg o = g T % 3 2wt ) # g w ek .
gy Ao ARFa AR

Tl 1 Tt 11
(vgutadam)  (aife )
(a) SHE @) sl darem, R 3w 37 vaml R
o 1 a2, el Saeht sTrawaa 3
ORI ) TR =ha afg 3g vl daes PR AR
JTETIHAT Bidt B
(c) 1 FHISH (iti) afd Freht o= 3eag ookt o weam sivat
whrerat @adt Frot ¥ IR STEwEERa 7 8 @
3% Sorag a% A we R R s =ik
(&) werd (iv) TR TR Frcderd # T T@ qon e
G afig 3 wafca deesl At sravawa B
B
Options :
91394373721 Ui (-0, ()-Giv), (d)~(i)
qesamrarse | TREr oo oD
a1394373708 ik (B9 (-, (d-§00
a1394z7375e U (b)-(9), (-, (d)-0)

Question Number : 132 Question Id : 91394318764 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which one of the following product life ¢ycle stages a firm improves product quality and
adds new features and improved styling ?

Options :

Introduction stage
91394373725,

Growth stage
91394373726,

Maturity stage
91394373727, ty stag

Decline stage
91394373728,

Question Number : 132 Question Id ;: 91394318764 (Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
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frfaRaa § @ fora o sfem =5 § wH Jearg <hi 7ot ® guR et @ aot % fasward ol g
T i wftifaa st 2 2

Options :

91394373725. A

gfg =

91394373726.

913942373727, e

91394373728, Lt

Question Number : 133 Question Id : 91394318765 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following types of retailers is “D Mart” ?

Options :

91394373709, Liscount store

Super market
91394373730,

9139437373] Convenienceigiore

Catalogue store
91394373732, .

Question Number : 133 Question Id : 91394318765 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

“D Mart” frfafaa & @ fora yor #1 fee 2 2
Options :

91394373729. ®R

HTehe
91394373730, ©

Fraied WR

91394373731

913942373732 R
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Question Nuinber : 134 Question Id : 91394318766 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The following two statements relate to consumer behaviour. Choose the correct code for the
statements being correct or incorrect.

Statement I : People who purchase mutual funds are more likely to believe that they
cannot predict the market and probably have an internal locus of
control.

Statement Il : People who purchase stocks believe that they can predict the market and
have an external locus of control.

Code:
Options :

Statement I is correct, but II is incorrect.
91394373733,

Statement II is correct, but I is incorrect.
91394373734.

91394373735, Both the statements I and I1 are correct.

91394373736, Both the statements I and II are incorrect.

Question Number : 134 Question Id : 91394318766 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frafafaa g1 9= 5% % =HagR | Gafta § | FyE % a8 @ Ted 2 % el # 9t e w1 = w

i |

FUT] . I AN T Bl Tl €, Sifreivia: IR WEAT BT 8 76 A SR % an 7 o
T T SR WA A ATaReh e i fagry g @ |

#9711 ; T A @i (W) Tlicd €, 3 78 7 ¥ F5 S IR F TR SuE @ g & qun ST
et T 1 fergay B 2

C T4

Options :

YT 19t 8, Tg 11 Tid 2 |
91394373733,

F97 11 T 8 1T 2 |
91394373734, y

$Yq 1 3l 11
91394373735. A

$Y9 1 3 11 49t T
91394373736, 3 g

Question Number : 135 Question Id : 91394318767 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

The following two statements relate to receivables management. Choose the correct code for
the statements being correct or incorrect.

Statement I : The major controllable decision variables for deciding the credit policy are the
credit standards and analysis and the credit terms only.

Statement II : Factoring is a popular mechanism of managing, financing and collecting
receivables.

Code:
Options :

Statement I is correct, but II is incorrect.
91394373737.

Statement II is correct, but I is incorrect.
91394373738,

91394373739 Both the statements I and 11 are correct.

91394373740, Both the statements I and II are incorrect.

Question Number : 135 Question Id : 91394318767 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fr=r wifty wevm & wlta U= § | SRl 5 a6 91 Ted g % ded o wdt g % ww hifvr |

Fy7: T % 9R 7 Pk R % e s feseft Foi gedt =t Sae 5o 9 @ Rvemn
aon For gaet TR R B ¥ |

o [1 : baeion iiaat % saes, fawrivor qon Suger i T ARRE 619 ¢ |

C %

Options :

YT 1 9t 8, wg 11 Teid 2 |
91394373737

F97 11 T 8 ITed 2 |
91394373738, » ¥4

$Yq 1 3 11
91394373739, WA

$Y9 1 3T 11 &9t Tad
91394373740. 3 g

Question Number : 136 Question Id : 91394318768 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The following two statements relate to Capital Asset Pricing Model. Choose the correct code
for the statements being correct or incorrect.

Statement I : Beta is a measure of a security’s risk relative to the risk of the market
portfolio.

Statement II : The value of Beta measures both the systematic and the unsystematic risks
of a security.

Code:
Options :

Statement I is correct, but II is incorrect.
91394373741,

Statement II is correct, but I is incorrect.
91394373742,

91394373743 Both the statements I and I1 are correct.

91394373744 Both the statements I and II are incorrect.

Question Nuinber : 136 Question Id : 91394318768 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frfaRaa A1 w9=t 1 d9g S annfee geam wioam (viear) & B | H9H1 & 98 I T 31 & wadl
5 el $ A hifs |
FYT: AR GEHifeEl & Sifan % ang ° v sl % SiRaw woam i g

FYTIl: 9w qea Sayfd % sqaita g seaatera gl YRR % Siiadt Fi 29t g |

C %

Options :

YT 1 9t 8, Tg 11 7T 2 |
91394373741

HYT LI T ], 7g 1 Teid 8 |
91394373742,

F9q 1 3l 11
91394373743, AT

$Y9 1 3 11 <t Tad
91394373744, 3 g

Question Number : 137 Question Id : 91394318769 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The following two statements relate to financial derivatives. Choose the correct code for the
statements being correct or incorrect.

Statement I : When an option is allowed to be exercised only on the maturity date, it is
called an American option.

Statement II : If the option holder does not lose or gain whether he exercises his option or
buys or sells the asset from the market, the option is said to be at-the-money.

Code:
Options :

Statement I is correct, but II is incorrect.
91394373745,

Statement II is correct, but I is incorrect.
91394373746,

91394373747 Both the statements I and I1 are correct.

91394373748 Both the statements I and II are incorrect.

Question Nuinber : 137 Question Id : 91394318769 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

FrefeRad AT uat 1 ey focfra sqeafoai @ 2 1 oAt S o6 91 Tod 9 S Hed A e e

T i |
o [ : 9 T IATIA S Fad qigsadr S arrg W& v it a2t 2 9 38 omleh s
g1 W1 2 |

o 11 - Ale ATTE 9T HE A9 A4GT 5 TE gt S8 98 A9 AT T A T FE TR 9
e @R st 99 ) U ATTH Fi T2-2-wH gl S B 2

%
Options :

YT 1 9t 8, Wg 11 7Tid 2 |
91394373745.

YT LI G ], 9g 1 Tid & |
913943737486

$Yq 1 3l 11
91394373747 A

$Y9 1 3 11 49t T
91394373748. 3 g

Question Numnber : 138 Question Id : 91394318770 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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= qt iy fGg 7 g, s @ o iR (A) B 3 g@T 7 (R) 7 | oAl =l 1fgy ok = fu e

% B TN
YHHT (A)

% (R) :

C T4

Options :

Tt st gh |

T <t = X 0 Sreatass s @ aun gEedife f awifye @ wfiifae @ R, aon
w& qErehife S X % Tge h GUTE St B 9 98 gEEifiG B S 7 | 97d: gegl
sfetesra ot sl 3, wfree Y arefaes 20 2 e # wraaE A R

Uit e e # Sew@ 2 o it <t o s s g fadg B dafee
rrehia X fadig % aam g =R |

(A) 3R (R) 1 Tt B 791 (R), (A) i T8t sarean § |

9133943737483,

91394373750.

913942373751,

91394373752.

(A) 3R (R) 1 TEt &, g (R), (A) T =ame 741 2 |

(A)Tft 8, I (R) e 7 |

(A) 3R (R) g1 TTeid & |
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Question Number : 138 Question Id ;: 91394318770 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ;

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A)

Reason (R) :

Code:

Options :

91394373749.

91394373750.

91394273751,

91394373752.

: The nominal interest rate comprises of a real interest rate and an expected

rate of inflation, and it adjusts when the inflation rate is expected to
change. Hence, in the perfect international capital markets, real rate of
returns are equal in the two countries.

The international Fisher Effect states that the nominal interest rate

differential must be equal to the expected inflation rate differential
in the two countries.

Both (A) and (R) are correct and (R) is the right explanation of (A).

Both (A) and (R) are correct but (R) is not the right explanation of (A).

(A) is correct but (R) is not correct.

Both (A) and (R) are incorrect.
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Question Nuinber : 139 Question Id : 91394318771 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A public imited company has 9,00,000 shares outstanding at current market price of T 130
per share. The company needs T 2:25 crores to finance its proposed new project. The board
of the company has decided to issue rights shares to raise the required money at ¥ 75 per

share (as subscription price) to ensure that the rights issue is fully subscribed. How many
rights are required to purchase a new share ?

Options :

One right
91384373753, e

Two rights
91394373754.

Three rights
91394373755,

Four rights
91394373756.

Question Number : 139 Question Id : 91394318771 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

o it fafies 9t % T 130 v I % SR 919 % 9,00,000 9T 37GH § | 9 R 70 T
forer 1§ wfeiorn 3 fercdioor &g T 2-25 Fg H smavawar § | F % dsa (9i2) 3 i o
e F foaw T 75 gt IR hA W A (WABrem 159 & 9 °) TE R Sl w0 F ok form,
Frad Tea s w P gsatrar gt 8 9% | w0 IeR @l % fae feaa wem
STATIHAT & ?

Options :

91394373753, il

3 TeE
91394373754,

91394373755.

=R T3
91294=737CE.

Question Number : 140 Question Id : 91394318772 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A manufacturing company has an expected usage of 50,000 units of a certain product
during next year. The cost of processing an order is T 20 and the carrying cost per unit is

< 0-50 for one year. What will be the Economie Ordering Quantity ?

Options :



www.prepp.in .repp

Your Personal Exams Guide

91394373757 2000 units

91394373758, 2000 units

91394373759, 1000 units

91394373760, 000 units

Question Number : 140 Question Id ;: 91394318772 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

wh s et 9t oot 9 3 Som ivaw e H 50,000 FHEE S I FH AR R | T
T FAaT H anra T 20 2 Y1 TF T4 % o0 90 @ R anra T 0-50 9 5968 2 |
anf¥fes amew wosn foperft ahft 2

Options :

2500 FHI3AT
91394373757,

2000 FHraal

913943737583.

1500 THIgAT

91394373759.

1000 ZHIgAT

91394373760.

Question Number : 141 Question Id : 91394318773 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following will have a net change in the amount of working capital of a
company ?

Options :

Paving cash to its creditors
91394373761. s

Purchasing land and makin ent by issuing shares to the landowner
91394373762, B L ¥ &

Purchasing machinery for cash
91394373763.

Converting long-term loans and debentures into equity
913943737¢c4.
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Question Nuinber : 141 Question Id : 91394318773 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frfaRaa 9 @ a8 & s 6 Frivfa G i afir 4 faa aieds emom 2
Options :

YA U WA HE
91394373761 i

@i art IR S W YT
913943273762, s T asz F

91394373763. At

91394373764, iepifers oM quT T ht St 7 afafda e

Question Number : 142 Question Id : 91394318774 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following cases is the case of conglomerate merger ?

Options :

Brooke Bond and Lipton with Hindustan Lever
91394373765,

Renusagar Power Supply and Hindalco
91394373766.

91394373757 'edafone India and Idea Cellular Ltd.

Godrej Soaps with loss-making Godrej Innovative Chemicals
91394373768,

Question Number : 142 Question Id ;: 91394318774 (Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ;

Freffac i d PR o ag S s F1 8 2
Options :

di-s iR foree 1 femgeam offat & wiy
91394373765 =

AR i qearg ik famsraent

91394373766.

qrer gfean AR smsfsan degen fofires
91394373767 v
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o139437576g TS S 1 HE 6 Tt MR TN Fied 5 W

Question Number : 143 Question Id ;: 91394318775 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ;

The given statements are related to financial derivatives. Choose the correct code for the
statements being correct or incorrect.

Statement I : A speculator will gain, if he sells foreign currency under a forward contract,
when the spot price is higher than the forward price.

Statement II : In currency futures, intra currency spread exists when a speculator
buys/sells the same currency for two delivery dates.

Code:
Options :

Statement I is correct, but II is incorrect.
91394373769,

Statement I is correct, but I is incorrect.
91394373770,

91394373771 Both the statements I and II are correct.

91394373772 Both the statements I and II are incorrect.

Question Number : 143 Question Id ;: 91394318775 Question Type : MCQ Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
feu T A Tl sgeaat (Shafesw) & wafta § | oAt % w1 Tag 39 % aed ® wEl g
I |

Fy7 ] : Al I gt arg w9y & s=arfa sa au fadsh g1 a=a & o woie goa 9 e )
st 3 a9t 38 Fifvee w1 @ v g |

T 17 Hedt FE ¥ s g gt fechad i ariat % fow 9@ Fih @dgqvasa @ v
FHt S BT R |

C %

Options :

YT 1 9t 8, Tg 11 7T 2 |
91394373769

HYT LI T ], 7g 1 Teid 8 |
91394373770.

F9q 1 3l 11
91394373771 AT
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$Y9 1 3T 11 <4t Tad
91394373772. 3 g

Question Number : 144 Question Id ;: 91394318776 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ;

The following statements are related to technology transfer between countries. Choose the
correct code for the statements being correct or incorrect.

Statement I : Import of techniques and machinery is a mode of technology transfer.

Statement II : Technology transferred through government for common welfare is
considered as free market transfer and is not subject to patent laws.

Code:

Options :

Statement I is correct, but II is incorrect.
91394373773,

Statement II is correct, but I is incorrect.
91394373774.

91394373775, Both the statements I and II are correct.

91394373776, Both the statements I and II are incorrect.

Question Number : 144 Question Id : 91394318776 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

freafafiaa o= <ot & e steifirht o7a0or @ 99fta 7 | Al 5 Q@ 91 Tad 31 % 9o § 98t e w
9 it |
FoT [ : Tt I wefws s e Senfreh stavor 1w ol #

Fo [T - TR o Aregq d fafa Tenfeh s 9w st ur s 2 @ik g vde fafa & srerdfis
T R |

C %

Options :

Y 19t 8, Tg 11 Teid 2 |
91394373773

YT 119 ], 9g 1 TTeia 8 |
91394373774.

$yq 1 3l 11
91394373775. AT

F97 1 3fk 11 2t Tea
91394373776, a i
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Question Nuinber : 145 Question Id : 91394318777 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the context of economic groupings, which among the following, is not applicable to
common market ?

Options :

Harmonisation of economic policies
91394373777,

91394373778, Common external tariff

Free movement of labour and capital
91394373779.

91394373780, Removal of tariff barriers on intra-trade

Question Number : 145 Question Id ; 91394318777 Question Type : MCQ Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
IR T 3 weM # FrafaRas 3 @ $i-a1 divmge gel © AL 7@ B g 2

Options :

913942373777. =

M Hlel Jc<h
91394373778.

o9 3 ISl 1 g g
91394373779. R

AT-SITIR @ T AqUEt g
91394373780,

Question Number : 146 Question Id ;: 91394318778 Question Type : MCQ Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Various bodies in the organisational structure of WTO are given below. On the basis of
decision making authority, arrange them from top to bottom and indicate the correct code.

(i) General Council

(ii) Ministerial Conference

(iii) Specialised Committees
(iv) Council for Trade in Goods

Choose the correct answer from the code given below :
Code:

Options :
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i), (D), v), (i)
a1394373781. P (VI

91394373752, o O W)

91394373783, (@), (i), (iv),(iii)

Question Number : 146 Question Id : 91394318778 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

forga =TI e (3%, A1.30.) ) WTeTeTs TeeAl 3 o et e e R g o E )
ottt Tiftreror 3 YR W 378 SR ¥ F9 i i swafcim Hifse it ot w2 1 wa= Hifs |

() WeEw

(i) WA TEE
(iii) fererfrera afirferat
(iv) g SAIR 9w,

Frer e e e | | T W = g
6

Options :

91394373731 (i), (1), (iv),(iii)

91394=273782. (1), (i), (iii),(iv)

01394373783, O 1 (VD

91394373734, (iv), (1), (ii),(iii)

Question Number : 147 Question Id : 91394318779 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following statements is nof true relating to ‘Crawling Peg System’ of
exchange rate ?

Options :

It was introduced as an alternative to the adjustable peg system.
91394373785,

It allows a narrow margin of fluctuations as compared to adjustable stem.
91394373786, argin P j peg sy
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It takes a position in between the fixed exchange rate system and the flexible exchange rate

system.
91394373787.

It was introduced by IMF in 1971.
91394373788,

Question Number : 147 Question Id : 91394318779 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fafma @ % “wife U Rreen” & ey o Fafafge  a sR-ar sy adt adf 2 2
Options :

g (Teeaa) ¥ fieen % fames % w9 # dw fem
91394373785, " ( ) N T T |

e 1 R < e 6 g A e A
91304373786, I H Sgd FH STl AT B |

g7 Frag fafra o et it w=fich AP e S e ffo sar 2
913943737827.

TR JEATT AR TA.TF. g 1971 § i 735 ot |
91394373788

Question Number : 148 Question Id ; 91394318780 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Which of the following are the components of international logistics ?
(i) Fixed facilities location

(ii) Inventory management

(iii) Order processing

Choose the correct answer from the code given below :

Code:
Options :

91394373759, O and )

(i) and (iii)
91394373790.

91394373791, oD and (i)

i), (ii) and (iii
91394373792 (i ) em i

Question Number : 148 Question Id : 91394318780 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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frefafas faedi 4 @ =i awr-aa & sl 1 == o
() Frulffa gl e

(i) AT Yaaa

(i) AT ST

Frer e e e # | T W+ g
C T4

Options :

91394373789, 0 3R (i)

(1) 3 (iii)
91394373790.

91294373791, (i) S (i)

(1), (i) 3 (iii)
91394373792,

Question Number : 149 Question Id : 91394318781 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A situation where prosperity of one sector leads to the neglect of other sectors is referred to

as
Options :

British disease phenomenon
91394373793.

Dutch disease phenomenon
91394373794,

Spanish disease phenomenon
9139427379E,

French disease phenomenon
91394373796,

Question Number : 149 Question Id : 91394318781 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

et feuf el o @ <R Tmfg @ o e <R St B R, et R
Options :

fufewr fedftw geera
91394373793
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g9 fedw geera
91294273794,

wfrw fedie g
91394373795.

%= fedte geera
91394373796

Question Number : 150 Question Id : 91394318782 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the context of regional economic integration, which of the following equations is not
correct ?
Options :

91394373797 Customs Union = Free trade area + Common external tariff

Economic Integration = Common market + Fixed exchange rate + Macro economic

91394373798, o ordination

Common Market = Customs Union + NTBs + Factor mobility
91394373799.

91394373300, Free Trade Area = Customs Union — Common external tariff

Question Number : 150 Question Id : 91394318782 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Frefafaa dira e ais @ gafta 8; Tera & gz Hifse )
Options :
HHTYes 99 = Y AR &5 + QW 958 T
91394373797, I

el O = 9=t SR + Frere fafm o + safee anfdhs wweaa
91394373793,

A TR = dWTges a9 + @A + bt mifafad
91394373799,

SR &7 = HHeh 99 — WM a1 Seh
91394373800 ™



